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f-1 PT 22.8 253 |519.84 | 25 70 |XLPE| 200 1 |PVC| 0.1211 | 0.1526 | 0.00003423 | 0.00190635 | 55.69 | 1.1 |13.27 | 14.6 1
f-2 HVCB-M 22.8 25.3 |519.84 | 25 2 |cusus|60x 10| 1 aan | 0.0398 | 0.2094 | 0.00003438 | 0.00190716 | 55.47 | 1.1 |{13.26|14.59| 1
f-3 HVCB-1 22.8 253 |[519.84 | 25 3 |cusus|25x 3| 1 aan | 0.3036 | 0.2902 | 0.00003613 | 0.00190883 | 52.83 | 1.1 |13.25[14.58 | 1
f-4 ACB-1 0.38 | 1519.3 | 0.1444 | 0.6 | 10 |cusus(100x10| 4 | 5% | 0.0062 | 0.1266 | 0.00295781 | 0.02794529 | 8.6 |1.22|65.35(79.73| 2
f-5 E1 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 100 1 |™WF] 0.2341 | 0.1466 | 0.16480447 | 0.12461519 | 0.76 1 | 735|735 | 2
f-6 E2 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F10.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 1636|636 | 2
f-7 E3 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W®] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 6.36 | 6.36 3
f-8 E4 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 6.36 | 6.36 3
f-9 E5 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™n*]0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 6.36 | 6.36 3
f-10 E6 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™WF] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 6.36 | 6.36 3
f-11 E7 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 6.36 | 6.36 3
f-12 E8 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 636|636 | 4
f-13 E9 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™WF10.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 /636|636 | 4
f-14 E10 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W®] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 636|636 | 4
f-15 F1 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 100 1 |™WF1 0.2341 | 0.1466 | 0.16480447 | 0.12461519 | 0.76 1 | 735|735 | 4
f-16 F2 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™WF10.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 /636|636 | 4
f-17 F3 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™WF10.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 6.36 | 6.36 5
f-18 F4 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 6.36 | 6.36 5
f-19 F5 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™n*]0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 6.36 | 6.36 5
f-20 F6 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™WF] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 6.36 | 6.36 5
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f-21 F7 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 1636|636 | 5
f-22 F8 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 |6.36 |636 | 6
f-23 F9 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™WF|0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 |6.36 |63 | 6
f-24 F10 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 1636|636 | 6
f-25 EO 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 50 1 |™VF] 0.4692 | 0.1614 | 0.32761611 | 0.13486449 | 0.41 1 1429|1429 | 6
f-26 EE1 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 38 1 |™WF| 0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 1 1342|342 | 6
f-27 EE2 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 38 1 |™WF| 0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 1 342|342 | 7
f-28 EE3 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 38 1 |™WF| 0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 1 342|342 | 7
f-29 EE4 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 38 1 |™*®] 0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 1 1342|342 | 7
f-30 EE5 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 22 1 |™W*F| 1.0507 | 0.1622 | 0.73031694 | 0.13541851 | 0.19 1 1205)205| 7
f-31 FO 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 50 1 |™VF] 0.4692 | 0.1614 | 0.32761611 | 0.13486449 | 0.41 1 1429|429 | 7
f-32 FF1 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 38 1 |™W®] 0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 1 1342|342 | 8
f-33 FF2 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 38 1 |™WF| 0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 1 1342|342 | 8
f-34 FF3 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 38 1 |™®] 0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 1 1342|342 | 8
f-35 FF4 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 38 1 |™W*®] 0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 1 342|342 | 8
f-36 HVCB-2 22.8 253 |519.84 | 25 3 |cusus|25x 3| 1 s | 0.3036 | 0.2902 | 0.00003613 | 0.00190883 | 52.83 | 1.1 |{13.25|14.58| 8
f-37 ACB-2 0.38 | 1519.3 | 0.1444 | 06 | 10 |cusus|100x10| 4 s | 0.0062 | 0.1266 | 0.00295781 0.02794529 | 8.91 (1.22|60.41| 73.7 | 9
f-38 CDA 0.38 | 1519.3 | 0.1444 | 0.6 | 50 |xLPE| 250 1 |PVC| 0.0957 | 0.1126 | 0.03594129 | 0.06398358 | 1.78 |1.01| 20.7 |20.91| 9
f-39 ATS 0.38 | 1519.3 | 0.1444 | 06 | 10 | FR | 250 6 |RSG| 0.1046 | 0.1545 | 0.00401146 | 0.02677790 | 6.68 [1.18|56.11(66.21| 9
f-40 EMP 0.38 | 1519.3 | 0.1444 | 06 | 71 | FR | 250 6 |RSG| 0.1046 | 0.1545 | 0.01258325 | 0.03943891 | 3.13 [1.07| 36.7 [39.27| 10
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f-41 EPF1A 0.38 |1519.3 | 0.1444 | 0.6 | 100 | FR 80 1 |EMT| 0.2949 | 0.1644 | 0.21680763 | 0.15328933 | 0.71 1 1572|572 | 10
f-42 EPF1B 0.38 |1519.3 | 0.1444 | 0.6 | 100 | FR 80 1 |EMT| 0.2949 | 0.1644 | 0.21680763 | 0.15328933 | 0.71 1 1572|5672 | 10
f-43 EPF1C 0.38 |1519.3 | 0.1444 | 0.6 | 100 | FR 80 1 |EMT| 0.2949 | 0.1644 | 0.21680763 | 0.15328933 | 0.71 1 1572|5672 | 10
f-44 EPF1D 0.38 | 1519.3 | 0.1444 | 0.6 | 100 | FR 80 1 |EMT| 0.2949 | 0.1644 | 0.21680763 | 0.15328933 | 0.71 1 1572|572 | 10
f-45 EPF1E 0.38 | 1519.3 | 0.1444 | 0.6 | 100 | FR 80 1 |EMT| 0.2949 | 0.1644 | 0.21680763 | 0.15328933 | 0.71 1 1572|5672 | 11
f-46 EPF1F 0.38 |1519.3 | 0.1444 | 0.6 | 100 | FR 80 1 |EMT| 0.2949 | 0.1644 | 0.21680763 | 0.15328933 | 0.71 1 1572|672 | 11
f-47 EPF1G 0.38 | 1519.3 | 0.1444 | 0.6 | 100 | FR 80 1 |EMT| 0.2949 | 0.1644 | 0.21680763 | 0.15328933 | 0.71 1 1572|5672 | 11
f-48 EPF1H 0.38 | 1519.3 | 0.1444 | 0.6 | 100 | FR 80 1 |EMT| 0.2949 | 0.1644 | 0.21680763 | 0.15328933 | 0.71 1 1572|5672 | 11
f-49 EPF2A 0.38 |1519.3 | 0.1444 | 0.6 | 100 | FR 80 1 |EMT| 0.2949 | 0.1644 | 0.21680763 | 0.15328933 | 0.71 1 1572|672 | 11
f-50 EPF2B 0.38 |1519.3 | 0.1444 | 0.6 | 100 | FR 80 1 |EMT| 0.2949 | 0.1644 | 0.21680763 | 0.15328933 | 0.71 1 1572|5672 12
f-51 EPW1A 0.38 | 1519.3 | 0.1444 | 0.6 | 50 |[XLPE| 14 1 |PVC| 1.6576 | 0.1381 | 0.58654447 | 0.08725747 | 0.15 1 1256|256 | 12
f-52 EPW1B 0.38 | 1519.3 | 0.1444 | 0.6 | 50 |[XLPE| 14 1 |PVC| 1.6576 | 0.1381 | 0.58654447 | 0.08725747 | 0.15 1 1256|256 | 12
f-53 EPW1C 0.38 |1519.3 |0.1444 | 0.6 | 50 [XLPE| 14 1 |PVC| 1.6576 | 0.1381 | 0.58654447 | 0.08725747 | 0.15 1 1256|256 | 12
f-54 EPW1D 0.38 | 1519.3 | 0.1444 | 0.6 | 50 [XLPE| 14 1 |PVC| 1.6576 | 0.1381 | 0.58654447 | 0.08725747 | 0.15 1 1256|256 | 12
f-55 EPW1E 0.38 | 1519.3 | 0.1444 | 0.6 | 50 |[XLPE| 14 1 |PVC| 1.6576 | 0.1381 | 0.58654447 | 0.08725747 | 0.15 1 1256|256 | 13
f-56 EPWR1 0.38 |1519.3 |0.1444 | 0.6 | 50 [XLPE| 14 1 |PVC| 1.6576 | 0.1381 | 0.58654447 | 0.08725747 | 0.15 1 1256|256 | 13
f-57 LMIS 0.38 |1519.3 |0.1444 | 0.6 | 50 [XLPE| 14 1 |EMT| 1.6576 | 0.1726 | 0.58654447 | 0.09920345 | 0.17 1 1255|255 | 13
f-58 RMIS 0.19 | 3038.7 | 0.0361 | 0.6 | 50 |[XLPE| 14 1 |EMT| 1.6576 | 0.1726 | 4.61644060 | 2.59404186 | 0.56 1 1057|057 | 13
f-59 HVCB-3 22.8 253 | 51984 | 25 3 |cusus| 26 x 3| 1 aan | 0.3036 | 0.2902 | 0.00003613 | 0.00190883 | 52.83 | 1.1 |13.25|14.58 | 14
f-60 ACB-3 0.38 | 1519.3 | 0.1444 | 0.6 | 10 |cusus(100x10| 4 | B | 0.0062 | 0.1266 | 0.00295781 | 0.02794529 8.6 [1.22|65.35|79.73| 14
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f-61 C1 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 100 1 |™rF| 0.2341 | 0.1466 | 0.16480447 | 0.12461519 | 0.76 735|735 | 14
f-62 C2 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 100 1 |™rF| 0.2341 | 0.1466 | 0.16480447 | 0.12461519 | 0.76 735|735 | 15
f-63 C3 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 100 1 |™WF|0.2341 | 0.1466 | 0.16480447 | 0.12461519 | 0.76 735|735 | 15
f-64 C4 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 100 1 |™rF| 0.2341 | 0.1466 | 0.16480447 | 0.12461519 | 0.76 735|735 | 15
f-65 C5 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 100 1 |™rF| 0.2341 | 0.1466 | 0.16480447 | 0.12461519 | 0.76 735|735 | 15
f-66 C6 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 100 1 |™WF|0.2341 | 0.1466 | 0.16480447 | 0.12461519 | 0.76 735|735 | 15
f-67 C7 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 100 1 |™VF| 0.2341 | 0.1466 | 0.16480447 | 0.12461519 | 0.76 735|735 | 16
f-68 C8 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 100 1 |™rF| 0.2341 | 0.1466 | 0.16480447 | 0.12461519 | 0.76 735|735 | 16
f-69 C9 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 100 1 |™rF| 0.2341 | 0.1466 | 0.16480447 | 0.12461519 | 0.76 735|735 | 16
f-70 C10 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 100 1 |™WF|0.2341 | 0.1466 | 0.16480447 | 0.12461519 | 0.76 735|735 | 16
f-7 D1 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |xLPE| 100 1 |™rF| 0.2341 | 0.1466 | 0.16480447 | 0.12461519 | 0.76 735|735 | 16
f-72 D2 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™rF| 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 6.36 | 6.36 | 17
f-73 D3 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 80 1 |™WF|0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 6.36 | 6.36 | 17
f-74 D4 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |xLPE| 80 1 |™VF| 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 6.36 | 6.36 | 17
f-75 D5 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [xLPE| 80 1 |™WF|0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 6.36 | 6.36 | 17
f-76 D6 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 80 1 |™WF|0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 6.36 | 6.36 | 17
f-77 D7 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 80 1 |™WF|0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 6.36 | 6.36 | 18
f-78 D8 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 80 1 |™rF| 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 6.36 | 6.36 | 18
f-79 D9 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 80 1 |™rF| 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 6.36 | 6.36 | 18
f-80 D10 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 80 1 |™WF|0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 6.36 | 6.36 | 18
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f-81 co 0.38 | 1519.3 | 0.1444 | 0.6 [100 [xtPE| 50 | 1 [™=|0.4692 | 0.1614 | 0.32761611 | 0.13486449 | 041 | 1 | 4.29 | 429 | 18
f-82 CC1 0.38 | 1519.3 | 0.1444 | 0.6 [100 [xLPE| 38 | 1 [™=|0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 | 1 | 3.42 | 3.42 | 19
f-83 CC2 0.38 | 1519.3 | 0.1444 | 0.6 [100 [xLPE| 38 | 1 [™%|0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 | 1 | 3.42 | 3.42 | 19
f-84 (ofox! 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [xLPE| 38 | 1 |™Ar=| 0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 | 1 | 3.42 | 3.42 | 19
f-85 cc4 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 38 | 1 |™Ar=| 0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 | 1 | 3.42 | 3.42 | 19
f-86 CC5 0.38 | 1519.3 | 0.1444 | 0.6 [100 [xtPE| 22 | 1 [™=|1.0507 | 0.1622 | 0.73031694 | 0.13541851 | 0.19 | 1 | 2.05 | 2.05 | 19
f-87 DO 0.38 | 1519.3 | 0.1444 | 0.6 [100 [XtPE| 50 | 1 [™AF|0.4692 | 0.1614 | 0.32761611 | 0.13486449 | 041 | 1 | 4.29 | 429 | 20
f-88 DD1 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [xLPE| 38 | 1 |™Ar=| 0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 | 1 | 3.42 | 3.42 | 20
f-89 DD2 0.38 | 1519.3 | 0.1444 | 0.6 [100 [xLPE| 38 | 1 [™¥=|0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 | 1 | 3.42 | 3.42 | 20
£-90 DD3 0.38 | 1519.3 | 0.1444 | 0.6 [100 [xtPE| 38 | 1 [™%|0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 | 1 | 3.42 | 3.42 | 20
f-91 DD4 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [xLPE| 38 | 1 |™Ar=| 0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 | 1 | 3.42 | 3.42 | 20
f-92 HVCB-4 228 | 253 [519.84| 25 | 3 |cusus|25x3| 1 | %5 |0.3036 | 0.2902 | 0.00003613 | 0.00190883 | 52.83 | 1.1 [13.25|14.58| 21
f-93 ACB-4 0.38 | 1519.3 | 0.1444 | 0.6 | 10 |cueus|100x10| 4 | 55 | 0.0062 | 0.1266 | 0.00295781 | 0.02794529 | 8.92 |1.22|60.35|73.63| 21
f-94 1-L1A 0.38 | 1519.3 | 0.1444 | 0.6 | 50 [xtPE| 30 | 1 |EMT|0.7727 | 0.1563 | 0.27036089 | 0.07913792 | 0.29 | 1 | 5.39 | 5.39 | 21
f-95 1-L1B 0.38 | 1519.3 | 0.1444 | 0.6 | 50 [xtPE| 30 | 1 |EMT|0.7727 | 0.1563 | 0.27036089 | 0.07913792 | 0.29 | 1 | 5.39 | 5.39 | 22
f-96 1-L1C 0.38 | 1519.3 | 0.1444 | 0.6 | 50 [xPE| 38 | 1 |PVC|0.6095 | 0.125 | 0.21385120 | 0.06829997 | 0.32 | 1 | 6.77 | 6.77 | 22
f-97 1-L1D 0.38 | 1519.3 | 0.1444 | 0.6 | 50 [XPE| 14 | 1 |PVC| 1.6576 | 0.1381 | 0.57676671 | 0.07283598 | 0.13 | 1 | 2.61 | 2.61 | 22
f-98 2-L1A 0.38 | 1519.3 | 0.1444 | 0.6 | 50 [xtPE| 30 | 1 |EMT|0.7727 | 0.1563 | 0.27036089 | 0.07913792 | 0.29 | 1 | 5.39 | 5.39 | 22
£-99 2-L1B 0.38 | 1519.3 | 0.1444 | 0.6 | 50 [xPE| 30 | 1 |EMT|0.7727 | 0.1563 | 0.27036089 | 0.07913792 | 0.29 | 1 | 5.39 | 5.39 | 22
£-100 2-L1C 0.38 | 1519.3 | 0.1444 | 0.6 | 50 [xtPE| 30 | 1 |EMT|0.7727 | 0.1563 | 0.27036089 | 0.07913792 | 0.29 | 1 | 5.39 | 5.39 | 23

FOOEHER F5H HH




i [ 2B

et E@E R

i A A HOE | B | R H & BEHR |[EHLX, TERHDT (Q) Isym | lasy

g FC Bz 4 BEE | #Ei | MHBU EH X/R | K HiS

it (KV) | (A) | (@) [(KV)[(M)[&5]] & £ | R (Q/KM) | (Q/KM) R (pw) X (pu) (KA)|(KA)
f-101 2-L1D 0.38 | 1519.3 | 0.1444 | 0.6 | 50 |xPE| 30 1 |EMT| 0.7727 | 0.1563 | 0.27036089 | 0.07913792 | 0.29 1 1539|539 | 23
f-102 2-L.2A 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XtPE| 30 1 |EMT| 0.7727 | 0.1563 | 0.53791629 | 0.13325842 | 0.25 1 1274|274 | 23
f-103 2-L.2B 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 30 1 |EMT| 0.7727 | 0.1563 | 0.53791629 | 0.13325842 | 0.25 1 1274|274 | 23
f-104 3-L1A 0.38 | 1519.3 | 0.1444 | 0.6 | 50 |xtPE| 30 1 |EMT| 0.7727 | 0.1563 | 0.27036089 | 0.07913792 | 0.29 1 1539|539 | 23
f-105 3-L1B 0.38 | 1519.3 | 0.1444 | 0.6 | 50 |XtPE| 30 1 |EMT| 0.7727 | 0.1563 | 0.27036089 | 0.07913792 | 0.29 1 1539|539 | 24
f-106 PAC1 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 250 5 |™&™| 0.1022 | 0.1408 | 0.01696061 | 0.04451881 | 2.62 |1.04|31.89|33.17| 24
f-107 PAC2 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 250 3 |™E™10.1022 | 0.1408 | 0.02639736 | 0.05751973 | 2.18 [1.03]24.01|24.73| 24
f-108 PAC3 0.38 | 1519.3 | 0.1444 | 0.6 | 100 [XLPE| 200 1 |PVC| 0.1211 | 0.1159 | 0.08666976 | 0.10528058 | 1.21 1 (1114|1114 24
f-109 MR 0.19 | 3038.7 | 0.0361 | 0.6 | 20 |XLPE| 200 3 |TRAY| 0.1258 | 0.1709 | 0.08255087 | 0.17809960 | 2.16 |1.03|15.48|15.94| 25
f-110 1-R1A 0.19 | 3038.7 | 0.0361 | 0.6 | 50 |[XLPE| 14 1 |EMT| 1.6576 | 0.1726 | 2.37839575 | 0.41715777 | 0.18 1 1126|126 | 25
f-1m 1-R1B 0.19 | 3038.7 | 0.0361 | 0.6 | 50 |[XLPE| 14 1 |EMT| 1.6576 | 0.1726 | 2.37839575 | 0.41715777 | 0.18 1 1126|126 | 25
f-112 1-R1C 0.19 | 3038.7 | 0.0361 | 0.6 | 50 [XLPE| 8 1 |PVC| 2.9455 | 0.1402 | 4.16219076 | 0.37228243 | 0.09 1 1073|073 | 25
f-113 1-R1D 0.19 | 3038.7 | 0.0361 | 0.6 | 50 |XLPE| 8 1 |PVC| 2.9455 | 0.1402 | 4.16219076 | 0.37228243 | 0.09 1 1073|073 | 26
f-114 2-R1A 0.19 | 3038.7 | 0.0361 | 0.6 | 50 |[XLPE| 14 1 |EMT| 1.6576 | 0.1726 | 2.37839575 | 0.41715777 | 0.18 1 1126|126 | 26
f-115 2-R1B 0.19 | 3038.7 | 0.0361 | 0.6 | 50 |[XLPE| 14 1 |EMT| 1.6576 | 0.1726 | 2.37839575 | 0.41715777 | 0.18 1 1126|126 | 26
f-116 2-R1C 0.19 | 3038.7 | 0.0361 | 0.6 | 50 |[XLPE| 50 1 |EMT| 0.4692 | 0.1614 | 0.73241237 | 0.40164531 | 0.55 1 364|364 | 26
f-117 2-R1D 0.19 | 3038.7 | 0.0361 | 0.6 | 50 |[XLPE| 50 1 |EMT| 0.4692 | 0.1614 | 0.73241237 | 0.40164531 | 0.55 1 364|364 | 26
f-118 3-R1A 0.19 | 3038.7 | 0.0361 | 0.6 | 50 |[XLPE| 14 1 |EMT| 1.6576 | 0.1726 | 2.37839575 | 0.41715777 | 0.18 1 1126|126 | 27
f-119 3-R1B 0.19 | 3038.7 | 0.0361 | 0.6 | 50 |XLPE| 14 1 |EMT| 1.6576 | 0.1726 | 2.37839575 | 0.41715777 | 0.18 1 1126|126 | 27
f-120 2-R2A 0.19 | 3038.7 | 0.0361 | 0.6 | 50 |[XLPE| 50 1 |EMT| 0.4692 | 0.1614 | 0.73241237 | 0.40164531 | 0.55 1 |3.64]| 364 | 27
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et E@E R

%‘g AR %J/%k %/z: %}% B | RE fH & %8 _— BER |EHLX; YERPEPT (Q) w/r | K Isym | lasy =
i R T Ba R BT L = 105
B (KV) | (A) | (Q) [(KV)[(M)|&HA]| & & | FrEx (Q/KM)|(Q/KM) R (pw) X (pw) (KA)|(KA)
f-121 2-R2B 0.19 | 3038.7 | 0.0361 | 0.6 | 50 |XLPE| 50 1 |EMT| 0.4692 | 0.1614 | 0.73241237 | 0.40164531 0.55 1 | 3.64 | 3.64 | 27
f-122 HVCB-5 22.8 253 |519.84 | 25 3 |cusus|25x 3| 1 aan | 0.3036 | 0.2902 | 0.00003613 | 0.00190883 | 52.83 | 1.1 [13.25|14.58| 27
f-123 ACB-5 0.38 | 1519.3 | 0.1444 | 0.6 | 10 |cusus|100x10| 4 aan | 0.0062 | 0.1266 | 0.00295781 0.02794529 8.6 [1.22|65.35|79.73| 28
f-124 A1 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 6.36 | 6.36 | 28
f-125 A2 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™*F] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 6.36 | 6.36 | 28
f-126 A3 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™WF|0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 |6.36|6.36 | 29
f-127 A4 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W®] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 6.36 | 6.36 | 29
f-128 A5 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 6.36 | 6.36 | 29
f-129 A6 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 |6.36|636 | 29
f-130 A7 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™WF|0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 636|636 | 29
f-131 A8 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 |6.36 | 6.36 | 30
f-132 A9 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 |6.36 | 6.36 | 30
f-133 A10 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F|0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 1636|636 | 30
f-134 B1 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 100 1 |™F1 0.2341 | 0.1466 | 0.16480447 | 0.12461519 | 0.76 1 735|735 | 30
f-135 B2 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F]0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 |6.36 | 6.36 | 30
f-136 B3 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™WF|0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 |6.36 | 6.36 | 31
f-137 B4 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™WF10.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 |6.36 | 6.36 | 31
f-138 B5 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 | 6.36 | 6.36 | 31
f-139 B6 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*®] 0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 |6.36 | 6.36 | 31
f-140 B7 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™WF|0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 1 |6.36 | 6.36 | 31
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et E@E R

%g A %J%k %ﬁ %—%ﬁ B | RE fH #E & w5 BIHR |EILX, T ERPHIL (Q) /R Isym | lasy —
E ey CAEIS BRI L = T T
. (KV) | (A) | (@) [(kv)l(mylzmnl e | e (QKM)|(Q/KM)| R (ow) X (pu) (KA)|(KA)
f-141 B8 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™n*]0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 6.36 | 6.36 | 32
f-142 B9 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™n*]0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 6.36 | 6.36 | 32
f-143 B10 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 80 1 |™W*F]0.2872 | 0.1516 | 0.20157733 | 0.12807779 | 0.64 6.36 | 6.36 | 32
f-144 A0 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 50 1 |™n*]0.4692 | 0.1614 | 0.32761611 0.13486449 | 0.41 429 | 429 | 32
f-145 AA1 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 38 1 |™nE]0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 342 | 342 | 32
f-146 AA2 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 38 1 |™F] 0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 342 | 342 | 33
f-147 AA3 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 38 1 |™wE]0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 342 | 342 | 33
f-148 AA4 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 38 1 |™ne]0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 342 | 342 | 33
f-149 AA5 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 22 1 |™W*F|1.0507 | 0.1622 | 0.73031694 | 0.13541851 0.19 2.05 | 2.05| 33
f-150 BO 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 50 1 |™NE]0.4692 | 0.1614 | 0.32761611 0.13486449 | 0.41 429 | 429 | 33
f-151 BB1 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 38 1 |™nE] 0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 342 | 342 | 34
f-152 BB2 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 38 1 |™nE]0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 342 | 342 | 34
f-153 BB3 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 38 1 |™F] 0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 342 | 342 | 34
f-154 BB4 0.38 | 1519.3 | 0.1444 | 0.6 | 100 |XLPE| 38 1 |™wE]0.6095 | 0.1563 | 0.42477677 | 0.13133264 | 0.31 342 | 342 | 34
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i A T

QLA HHDT - B B MRS e 500 MVA - B{EZ & KVA, =1000 KVA
 KVA, 1000 KVA,

Z, =j KVA. 500 MVA x 1000~/ 0002 = 0002 £ 90 ° (pu)

O EERZ BERHE T = 7767.875HP X =25% %: 6 R=4.16667% (1HP=1KVA)

z2, =pu(Z,) x %Z’” ? x %2’;”’ = 0.00536397 + j 0.03218383 = 0.03262777 £ 80.5° (p.w)

Xz, =z, Il Z, :H: 0.00001792 + j 0.00188580 = 0.00188589 ~ 89.5° (p.u)
OCERHE - PT PR - f-1 B 0 KVpr= 228 KV Ip1= 253 A Zp1 =519.84Q

fi&4s @ 25 KV XLPE.C 200 mm2> 1/§ > 70 M>IN PVC.P Zpbe = 0.1211 +j 0.1526 (Q/ KM)

_Zcable 01211 +,01526 70 M 1 . _ o
=7 519.84 x 1000 M x 1 0.00001631 + j 0.00002055 = 0.00002624 £ 51.6 (p.u)

72, =XZs + Z,,=0.00003423 + j 0.00190635 = 0.00190666 ~ 89.0 ° (p.u)

Zy

b e e e I X
RRIEER I (om = ————— = 13.27 (KA) 2= 5569 » K= 1.1
ZZf-1 R
ISR ER © Ifr ey = KXI1pq @m= 146 (KA) — (CBEEH = 146 KA) - OK
QB 4TE © HVCB-M HfEER - f-2 FAEE ¢ KVpr= 228 KV Ipr= 253 A Zp1 =519.84Q
fi&4s @ 25 KV CUBUS 60x10t > 1/ > 2 M>INBUSBAR Zpys = 0.0398 +j 0.2094 (Q/ KM)
Z 0.0398 + 02094 2 M 1 .

Zp =20 — J x——=10.00000015 + j 0.00000081 = 0.00000082 £ 79.5° (p.u)

Zb1 510.84 * 1000 M 71
$Zp, =S 25, + Z,=0.0003438 + j 0.00190716 = 0.00190747 £ 89.0° (p.u)

e e e - I X
RIS ¢ I, m = ————— = 13.26 (KA) 2= 5547 » K= 1.1
ZZf-z R
ISR ER © 10 @y = K X1 @m= 1459 (KA) — (C.BEEFH = 146 KA) - OK
O CEE AT - HVCB-1 R f-3 FEAE(E © KVpr= 228 KV Tpr= 253 A Zp; =519.84Q
fi&4s © 25 KV CUBUS 25x3 t» 1/ > 3 M>INBUSBAR Zpys = 0.3036 +j 0.2902 (Q/ KM)

 Zhus 03036 +/02902 3 M 1

Zw 20 51984 XTooo X7 = 0-00000175 + j 0.00000167 =0.00000242 £ 43.7° (p.u)
YZp5 =%Zp5 + Z,,=0.00003613 + j 0.00190883 =0.00190917 2 88.9° (p.u)
et e - I X
SIS © [y @m= —=—or—— = 13.25 (KA) 22— 5283 + K= 1.1
ZZf-3 R
JEEFESEER © 15 @y = K XI5 @ym = 1458 (KA) — (C.BEEF = 146 KA) - OK
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i A T

QR LTE ¢ TRA Kt 2500 KVA TR—ZXMH] * KVpr= 228 KV Ip1= 253 A Zp1=519.84Q
fiiE48 © 25 KV XLPE.C 38 mm?> 1/& > 12 M >IN PVC.P Zmpe = 0.621 +j 0.2006 (Q/KM)

_ Zeale 0621 +j02006 12 M 1 , _ .
B Y X000 M < 1o 0-00001434 + j 0.00000463 =0.00001507 £ 17.9° (p.u)

Zy

. KVA
ST Ze = 0007 +j 00596 (QUKM) — Zpx—g - = 00028 +j 002384 (pu)
TR

XZk = XZp3 + Z, + Z;x =0.00285047 + j 0.02575346 = 0.02591073 £ 83.7 ° (p.u)

O fCERXTE - ACB-1 WL f-4 TROZHI D KVp2= 0.38 KV 152=1519.3 A Zp>=0.1444Q
Bl/&4% © 0.6 KV CUBUS 100x 10t » 4/§&§ > 10 M > INBUSBAR Zp,s = 0.0062 +j 0.1266 (Q/ KM)

_ Zpus _0.0062 + 01266 10 M 1 _ , _ .
== oaada 000w Xz 000010734 + j 0.00219183 = 0.00219446 £ 87.2" (puu)

XZ2f4 =XZn + Z2,=0.00295781 + j 0.02794529 =0.02810139284.0° (p.u)

Zy

OEERR L EERE T = 1886 HP X =25% —=6 R=4.16667% (1HP=1KVA)

KV nup )2 " KVAp
KV, KVA
Z2f-4 XZ

XZf ZZ}.4 nz, Zﬁm‘ = 0.00268536 + j 0.02309164 = 0.02324726 .~ 83.4° (p.u)
f-4 m

Z, =pu (Z,) %( = 0.02209261 + j 0.13255567 = 0.13438411 £ 80.5° (p.u)

o T T o S« 1 X
ETRBIRIEN e om = —5 5, = 65.35 (KA) —= 86 = K=122
-4

JEEBEEER © 10 @y = KXI1py m= 7973 (KA) — (C.BEEF]= 79.8 KA) - OK

QL EZLTE © E R -5 FAEE ¢ KVp2= 0.38 KV 1p2=1519.3 A Zp2=0.1444Q
fie4s 0 0.6 KV XLPE.C 100 mm2> 1 /& > 100 M > IN TRAY+EMT Zeapre = 0.2341 +j 0.1466 (Q/ KM)
_ Zeable _ 02341 +j0.1466 _ 100 M _ 1

Zyw 702 01244 XTooo M X7 016211911 + j 0.10152355 = 0.19128418 £ 32.1° (pu)
YZps =XZp4 + 2,,=0.16480447 + j 0.12461519 =0.20661428 £ 37.1° (p.u)

LD o [ 2+ Ip2 X

TR EREER If s (sym):ZZ—f_s: 7.35 (KA) F: 076 > K= 1
ISR ER © 15 @y = KXIps @m= 735 (KA) — (CBEEH = 74 KA) - OK
QI EHE 2 - E2 RS 0 f-6 FHEME ¢ KVp2= 0.38 KV Tp2=1519.3 A Zp2=0.1444Q

fii&4s - 0.6 KV XLPE.C 80 mm?2-

1
_ Zcable __0.2872 + j 0.1516 " 100 M xi
Zp2 0.1444 1000 M 1

X256 =X 254 + 2Z,,=0.20157733 + j 0.12807779 = 0.23882492 2 32.4° (p.u)

/§ > 100 M > IN TRAY+EMT Zcape = 0.2872 +j 0.1516 (Q/ KM)

Zw =0.19889197 + j 0.10498615 = 0.22490022 .~ 27.8° (p.u)

. . Ip2 X

oy el N : j— —_— ’ —

TR 10 om = —5 5 — Zre 6.36 (KA) = 064 K= 1
JEETRIEER © 16 @ = KXI1fs ym= 636 (KA) — (CB#EMH = 64 KA) - OK

FO05E F2H IHMHE



i A T

QI EEA4TE - E3 HER : f-7 HEBEE 0 KVp2= 0.38 KV 1p2=1519.3 A Zp,=0.1444Q
Bi&4% : 06KV XLPEC 80 mm2> 1/& > 100 M > IN TRAY+EMT Zcupe = 0.2872 +j 0.1516 (Q/ KM)
_ Zcable 0.2872 + j0.1516 100 M 1

Zn =" 01442 XTooo <7 = 019889197 + j 0.10498615 = 0.22490022 £ 27.8" (p.u)
YZp; =XZp4 + 2,,=0.20157733 + j 0.12807779 = 0.23882492 £ 32.4° (p.u)

Yt . Ip2 X

Sy iﬁérz"\t\‘: — — — ’ =

HEEEER © 17 sym) Sy P 6.36 (KA) R 0.64 K= 1
JEETE SR © If7 @y = KX1g7 @m= 636 (KA) — (CBEEF = 64 KA) e OK
O EE LT - E4 WL 0 f-8 FEAEME 0 KVp2= 0.38 KV 152 =1519.3 A Z;2 =0.1444Q

fid&4s © 06 KV XLPE.C 80 mm?2>

1
_ Zcable _0.2872 + j 0.1516 N 100 M xi
Zp2 0.1444 1000 M 1

X255 =XZfp4 + Z,,=0.20157733 + j 0.12807779 = 0.23882492 ~32.4° (p.u)

/§ » 100 M » IN TRAYEMT Zeape = 0.2872 +j 0.1516 (Q/ KM)

Zy

=0.19889197 + j 0.10498615 = 0.22490022 .~ 27.8° (p.u)

W Lo . Ip2 X

Sy iﬁérz"\t\‘: — — — ’ =

HEEEER © I8 (ym) sz, 6.36 (KA) R 0.64 K= 1
JEEITEI SR © I @y = KX1fs (ym= 636 (KA) — (CBEEF = 64 KA) e OK
QI EELTE - ES I EEE 0 f-9 FEE(H 0 KVp2= 0.38 KV 1p2=1519.3 A Zp2=0.1444Q

fii&4s - 0.6 KV XLPE.C 80 mm?2-

1
_ Zcable _0.2872 + j 0.1516 N 100 M xi
Zp2 0.1444 1000 M 1

X259 =X Zfp4 + Z,,=0.20157733 + j 0.12807779 = 0.23882492 ~32.4° (p.u)

/§ > 100 M > IN TRAY+EMT Zcapre = 0.2872 +j 0.1516 (Q/ KM)

Zw =0.19889197 + j 0.10498615 = 0.22490022 .~ 27.8° (p.u)

U Lot T s A pe Ib2 X

HTBEREER ¢ 15 om= "5z = 6.36 (KA) R = 064 K= 1
JEEIBEREER © 10 @y = KXIfg m= 636 (KA) — (CBEEFH = 64 KA) - OK
QBB LTE - E6 HfERL - f-10 B 0 KVp2= 0.38 KV I52=1519.3 A Zp2=0.1444Q

fii&4s - 0.6 KV XLPE.C 80 mm?2-

1 /8 > 100 M > IN TRAY+EMT Zcapte = 0.2872 +j 0.1516 (Q/ KM)
_ Zeapte _0.2872 +j0.1516 100 M _ 1

Zw 707 01244 X000 M ¥ T =0.19889197 + j 0.10498615 = 0.22490022 £ 27.8° (p.u)
YZpw=X2Zp4 + 2,=020157733 + j 0.12807779 =0.23882492 £ 32.4° (p.u)

. . Ip2 X

TEEEER © 110 gym) = ————— = 6.36 (KA —= 064 > K= 1

%ﬁﬁﬁ% ﬁ[‘?—ﬁaum f-10 (sym) > 7510 (KA) R
JEEITE R © L0 asp) = K X L fo10 (ymy = 6.36 (KA) — (CBEEfI= 64 KA) ---one OK
QL EB L« ET HPEEE ¢ f- 11 HAEE ¢ KVp2= 0.38 KV 1p2=1519.3 A Zp2=0.1444Q

fii&4s - 0.6 KV XLPE.C 80 mm?2-

1
_ Zcable _0.2872 + j 0.1516 " 100 M xi
Zp2 0.1444 1000 M 1

XZf11=XZfp4 + 2, =0.20157733 + j 0.12807779 =0.23882492 2 32.4° (p.u)

/§ > 100 M > IN TRAY+EMT Zcape = 0.2872 +j 0.1516 (Q/ KM)

Zw =0.19889197 + j 0.10498615 = 0.22490022 .~ 27.8° (p.u)

gD . Ip2 X
FEEEET e =P _ 536 (KA —= 064 > K= 1
%ﬁfﬁﬁﬁ[‘i%/}ﬂ f-11 (sym) > 751 (KA) R
3F¥Tf@éﬁl§%§§,/ﬁ : 1f-11 (asy) — K x 1f-11 (sym) = 6.36 (KA) - (C-B%ﬂ% = 64 KA) """ OK
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i A T

Qi EAETE - E8 HpERL - f-12 FHEE T KVp2= 0.38 KV 152 =1519.3 A Zp>=0.14440Q
Bi&4% : 06KV XLPEC 80 mm2> 1/& > 100 M > IN TRAY+EMT Zcupe = 0.2872 +j 0.1516 (Q/ KM)
_ Zcable 0.2872 + j0.1516 100 M 1

Zyw 2 01442 XTooo <7 = 019889197 + j 0.10498615 = 0.22490022 £ 27.8" (p.u)
YZ2p0=%2p4 + 2, =0.20157733 + j 0.12807779 = 0.23882492 » 32.4° (p.u)

. . Ib2 X

Sy iﬁérz"\t\‘: — — — ’ =
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_ Zpus _0.0062 + 01266 10 M 1 _ , _ .
== oaada 000w Xz 000010734 + j 0.00219183 = 0.00219446 £ 87.2" (puu)

XZ2f57=X2Znr + Z,=0.00295781 + j 0.02794529 =0.02810139284.0° (p.u)

Zy

S EERRZ BERE T = 10595 HP X =25% —=6 R=4.16667% (1HP=1KVA)

KVir 2 KVA
KV, KVA

Z, =pu (Z,) %( = 0.03932673 + j 0.23596036 = 0.23921514 ~ 80.5° (p.u)

, Z2f37 X2
255 =2f5 I Z, :ﬁmz 0.00280417 + j 0.02499466 = 0.02515147 ./ 83.6° (p.u)
f-37 m

bt e - I X
RIETET ¢ 1o (ym) = ———2—— = 60.41 (KA) 2= 891 » K=1.22
XZf 3 R
FEER IR - 1f 37 (asy) = K x g 37 (sym) = 73.7 (KA) - (C-B?LELE}EH = 737 KA) oot OK
@il EE4TE - CDA s - f- 38 HoB(H 0 KVp2= 0.38 KV 752 =1519.3 A Zp>=0.1444Q

Bi&4 © 0.6 KV XLPE.C 250 mm2> 1/& > 50 M>IN PVC.P Zcne = 0.0957 +j 0.1126 (Q/ KM)
_ Zcable _0.0957 +j01126 50 M 1

Zw 700 01442 X000 M xT=O.O3313712 + j 0.03898892 = 0.05116839 £ 49.6° (p.u)
YZ2p5=%2p 5 + 2, =0.03594129 + j 0.06398358 = 0.07338716 £ 60.7° (p.u)

Lt . Ip2 X

Sy i}:érz‘v\tqz — — —_— ’ =

BT ETR © -5 (ym) B P 20.7 (KA) = 1.78 K=1.01
JEEIFEEETER ¢ Ifo08 () = K X1 fo38 ymy = 2091 (KA) — (CBEEFH = 21 KA) - OK
QBB © ATS HPERE ¢ f-39 FE(E ¢ KVp2= 0.38 KV 1p2 =1519.3 A Zp2 =0.1444Q

fiE4R © 06 KV  FR.C 250 mm2> 6 /% > 10 M>IN RSG.P Zcpe = 0.1046 +j 0.1545 (Q/ KM)

_ Zeaple _0.1046 + j 01545 10 M _ 1 _ , B .
== = 1444 Xoog X g~ 0-00120729 + j 0.00178324 =0.00215348 £ 55.9° (p.u)

XZf39=XZf 35 + Z,=0.00401146 + j 0.02677790 =0.02707670 2 81.5° (p.u)

Zy

e I X
RRIUETES 1y 50 (ym) = ———2—— = 56.11 (KA) 2= 668 > K=118
sz-ag R
JEETEIEETR © I3 s = KX 130 (sym) = 66.21 (KA) — (C.BEEF] = 66.3 KA) ---n: OK

FO05E FOH IHIMH
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w2 B s &

OCERHE © EMP TR+ f-40 FEME ¢ KVp2= 0.38 KV Ip2=1519.3 A Zp2=0.1444Q
fii&4 :© 0.6 KV FR.C 250 mm2> 6 /8§ > 71 M>IN RSG.P Zcwie = 0.1046 +j 0.1545 (Q/ KM)
_ Zcable _0.1046 + j0.1545 71 M 1

Zw 2 01442 X500 M x?=0.00857179 + j 0.01266101 =0.01528976 £ 55.9° (p.u)
YZpw=X2Zs3 + 2,=0.01258325 + j 0.03943891 =0.04139765 2 72.3° (p.u)

Lt . Ip2 X

Sy iﬁérz"\t\‘: — — — ’ =

PRI EER ¢ L a0 (sym) Ty 7w 36.7 (KA) R 3.13 K=1.07
JEEFREEER © 10 () = K X1 f00 ymy = 3927 (KA) — (C.BEEF] = 39.3 KA) - OK
QL ERATE ¢ EPF1A HPERE ¢ f- 41 FHE[E ¢ KVp2= 0.38 KV 1Ip2 =1519.3 A Zp2=0.1444Q

fid’&43 © 0.6 KV FR.C 80 mm? >

1
_ Zcable __0.2949 + j 0.1644 N 100 M xi
Zp2 0.1444 1000 M 1

X2y =XZf s + Z,=0.21680763 + j 0.15328933 = 0.26552432 2 35.3° (p.u)

/§ > 100M >IN EMT.P  Zcape = 0.2949 +j 0.1644 (Q/ KM)

Zy

=0.20422438 + j 0.11385042 =0.23381513 £ 29.1° (p.u)

o . Ib2 X

I g (B2 SENAS . s o 72 KA - = 71 N K: 1

B R f-41 (sym) >Z2fn 5 (KA) R 0
IEETEEER I @y = K XL far ym = 572 (KA) — (C.BEF = 58 KA) -weeee OK
OfCER X - EPFIB R - f-42 FEEME 0 KVp2= 0.38 KV 152 =1519.3 A Zp2=0.1444Q

fiE4R © 06 KV FR.C 80 mm?>

1
_ Zcable _0.2949 + j 0.1644 N 100 M xi
Zp2 0.1444 1000 M 1

XZ2f4p=XZf 4 + Z,=0.21680763 + j 0.15328933 = 0.26552432 ~35.3° (p.u)

/§ > 100M >IN EMT.P  Zeabe = 0.2949 +j 0.1644 (Q/ KM)

Zw =0.20422438 + j 0.11385042 =0.23381513 £ 29.1° (p.u)

WL . Ip2 X

Sy iﬁérz"\t\‘: — — — ’ =

BRI ¢ 1 a2 (sym) —Z Zrn 5.72 (KA) R 0.71 K 1
ISR ER © I (a) = KX I fogo oy = 572 (KA) — (CBEEF = 58 KA) - oK
QL EZE AT ¢ EPF1C HPEEEE ¢ f-43 FEME ¢ KVp2= 0.38 KV 1p2 =1519.3 A Zp2 =0.1444Q

flE4R © 06 KV FR.C 80 mm?>

1/§ > 100M >IN EMT.P  Zeape = 0.2949 +j 0.1644 (Q/ KM)
_ Zeale _0.2949 + j 01644 100 M _ 1

Zw 702 01442 X000 M <7 =0.20422438 + j 0.11385042 = 0.23381513 £ 29.1° (p.u)
YZp45=X2p 40 + 2, =0.21680763 + j 0.15328933 = 0.26552432 £ 35.3° (p.u)

e . Ip2 X

MEEER © 10 ym) = ————— = 572 (KA —= 071 > K= 1

%ﬂffﬁ% QBEE@/)IL f- 43 (sym) > 75w (KA) R
JEETE R © [0 asp) = K X1 fo3 ymy = 572 (KA) — (C.BEEfi= 58 KA) ---e OK
QL EZLTE ¢ EPFID HPEEE ¢ f-44 HAEE ¢ KVp2= 0.38 KV 1p2=1519.3 A Zp2=0.1444Q

fiE4R © 06 KV FR.C 80 mm?>

1
_ Zcable __0.2949 + j 0.1644 " 100 M xi
Zp2 0.1444 1000 M 1

XZfu4=XZf 40 + Z,=0.21680763 + j 0.15328933 = 0.26552432 2 35.3° (p.u)

/§ > 100M >IN EMT.P  Zape = 0.2949 +j 0.1644 (Q/ KM)

Zw =0.20422438 + j 0.11385042 =0.23381513 £ 29.1° (p.u)

Lz . Ip2 X
TR SR © Ir ¢ = ———F—= 572 (KA —= 0.71 » K= 1
%ﬁﬁﬁ% QBEE@/)IL f- 44 (sym) y Zf- P ( ) R
JESTBEURETR © I foas asp) = K X1 faa (ymy = 572 (KA) — (C.B#EEF = 58 KA) -o OK

FO05FE F10H 34 H



= {113

w2 B s &

QBT © EPF1E TR 0 f-45 FEME ¢ KVp2= 0.38 KV Ip2=1519.3 A Zp2=0.1444Q
fii&4 :© 0.6 KV FR.C 80 mm2: 1/§ > 100M:IN EMT.P Zcbie = 0.2949 +j 0.1644 (Q/ KM)
_ Zecable 0.2949 + j 0.1644 100 M 1

Zn =" 01442 XTooo <7 = 020422438 + j 0.11385042 = 0.23381513 £29.1° (pu)
YZp4u5=X2p 40 + 2, =0.21680763 + j 0.15328933 = 0.26552432 £ 35.3° (p.u)

Yt . Ip2 X

Sy iﬁérz"\t\‘: — — — ’ =

HTETEEIR © 1505 sym) Sy Py 572 (KA) R 0.71 K= 1
JEEITEI R © L s asp) = K X 1 fous (ymy = 5.72 (KA) — (C.BEEfi= 58 KA) ---oe OK
O ERLLHE © EPFIF WIfERL - f- 46 FEAEME 0 KVp2= 0.38 KV 152 =1519.3 A Z;2 =0.1444Q

fid’&43 © 0.6 KV FR.C 80 mm? >

1
_ Zcable __0.2949 + j 0.1644 N 100 M xi
Zp2 0.1444 1000 M 1

XZf46=XZf a0 + Z,=0.21680763 + j 0.15328933 = 0.26552432 2 35.3° (p.u)

/§ > 100M >IN EMT.P  Zcape = 0.2949 +j 0.1644 (Q/ KM)

Zy

=0.20422438 + j 0.11385042 =0.23381513 £ 29.1° (p.u)

. . Ib2 X

TREEIE R ¢ 1y = ——=-——= 572 (KA == 071 - K= 1

HEEEER f-46 (sym) > 721 5 (KA) R 0
JEEIFREEER © Ifovs (as) = K X1 fos6 ymy = 572 (KA) — (CBEEF = 58 KA) - OK
OICEMR X - EPFIG i fERL o f- 47 FEAE(E 0 KVp2= 0.38 KV 752 =1519.3 A Zp2=0.1444Q

fiE4R © 06 KV FR.C 80 mm?>

1
_ Zcable _0.2949 + j 0.1644 N 100 M xi
Zp2 0.1444 1000 M 1

XZ2f47=XZf 4 + Z,=0.21680763 + j 0.15328933 = 0.26552432 2 35.3° (p.u)

/§ > 100M >IN EMT.P  Zeabe = 0.2949 +j 0.1644 (Q/ KM)

Zw =0.20422438 + j 0.11385042 =0.23381513 £ 29.1° (p.u)

. . Ip2 X
Sy iﬁérz"\t\‘: — — — ’ =
BRI EEIR ¢ 1w (sym) —Z Zr 5.72 (KA) R 0.71 K 1
ISR ER © Ifowr a) = K X1 foar ym = 572 (KA) — (CBEE = 58 KA) - OK
O CEE 4 © EPF1H i fEEL 0 f- 48 HeB(H 0 KVp2= 0.38 KV 752 =1519.3 A Zp>=0.1444Q

flE4R © 06 KV FR.C 80 mm?>

1/§ > 100M >IN EMT.P  Zeape = 0.2949 +j 0.1644 (Q/ KM)
_ Zeale _0.2949 + j 01644 100 M _ 1

Zw 702 01442 X000 M <7 =0.20422438 + j 0.11385042 = 0.23381513 £ 29.1° (p.u)
YZpw=X2p 40 + 2,=0.21680763 + j 0.15328933 = 0.26552432 2 35.3° (p.u)
e N Ip2 X
TFRHIEER g sym) = ————— = 572 (KA —= 071 > K= 1
%ﬂffﬁ% QBEE@/)IL f- 48 (sym) > 75w (KA) R
gF%ﬁfﬂ%ﬁiBﬁ%/ﬁ : If- 48 (asy) — K x If- 48 (sym) — 5.72 (KA) — (CB%}% = 538 KA) """ OK
QL EREATE © EPF2A HPEEE ¢ f-49 HAEE ¢ KVp2= 0.38 KV 1p2=1519.3 A Zp2=0.1444Q

fiE4R © 06 KV FR.C 80 mm?>

1
_ Zcable __0.2949 + j 0.1644 " 100 M xi
Zp2 0.1444 1000 M 1

XZf49=XZf 10 + Z,=0.21680763 + j 0.15328933 = 0.26552432 2 35.3° (p.u)

/§ > 100M >IN EMT.P  Zape = 0.2949 +j 0.1644 (Q/ KM)

Zw =0.20422438 + j 0.11385042 =0.23381513 £ 29.1° (p.u)

Lz . Ip2 X
TR SR © Ir ¢ = ———F—= 572 (KA —= 0.71 » K= 1
%ﬁﬁﬁ% QBEE@/)IL f-49 (sym) y Zf- 0 ( ) R
JESTBEUREEETT © Ifuo asp) = K X1 fgo (ymy = 572 (KA) — (C.B#EEF = 58 KA) - OK

FO5FE FMH > HLMHE
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w2 B s &

QBT - EPF2B RS+ f- 50 FEME ¢ KVp2= 0.38 KV Ip2=1519.3 A Zp2=0.1444Q
fii&4 :© 0.6 KV FR.C 80 mm2: 1/§ > 100M:IN EMT.P Zcbie = 0.2949 +j 0.1644 (Q/ KM)
_ Zecable 0.2949 + j 0.1644 100 M 1

Zy 2 01442 XTooo <7 = 020422438 + j 0.11385042 = 0.23381513 £29.1° (pu)
YZp0=X2Zp 40 + 2,=0.21680763 + j 0.15328933 = 0.26552432 £ 35.3° (p.u)

o N Ip2 X

Sy iﬁérz"\t\‘: — — — ’ =

HETEEIR © 1f-50 ym) Sy P 572 (KA) R 0.71 K= 1
JEEITEI R © L0 asp) = K X1 g0 (ymy = 5.72 (KA) — (C.BEEfi= 58 KA) -oee OK
Ol ER LT © EPWIA RS+ f- 51 HAEME 0 KVp2= 0.38 KV Ip2=1519.3 A Zp>=0.1444Q

Bl&4% 0.6 KV XLPEC 14 mm2> 1/§ > 50 M IN PVC.P Zcmbe = 1.6576 +j 0.1381 (Q/ KM)

_Zcable _1.6576 + 01381 50 M 1 . _ o
=7, 01442 x 1000 M x 1 0.57396122 + j 0.04781856 = 0.57594973 £ 4.8 ° (p.u)

Y255 =%2s 0 + 2, = 058654447 + j 0.08725747 =0.59299939 ~ 8.5 ° (p.u)

Zy

W Lo . Ip2 X

SREEER - I =" = 2 KA — = 01 » K= 1

HEEEER f- 51 (sym) S 75 o 56 (KA) R 0.15
3;3%{@5}3&5%%/)% A fs1 asy = K x 1§ 51 (sym) = 2.56 (KA) - (C-B%ﬂ% = 26 KA) .- OK
QL ERATE - EPWIB HPEEEE ¢ f-52 FAEE ¢ KVp2= 0.38 KV 1p2=1519.3 A Zp2=0.1444Q

fii&4s - 0.6 KV XLPE.C 14  mm?2>

1
_ Zcable _1.6576 + j 0.1381 N 50 M xi
Zp2 0.1444 1000 M 1

YZr=X2s 40 + Z,=058654447 + j 0.08725747 =0.59299939 / 8.5 ° (p.u)

/§ > 50 M>IN PVC.P Zbe = 1.6576 +j 0.1381 (Q/ KM)

Zw =0.57396122 + j 0.04781856 = 0.57594973 ~/ 4.8 ° (p.u)

LD o [ 2+ Ip2 X
TR EREER 1§ 52 (sym) = Zz—f-sz = 256 (KA) F: 015 » K= 1
3?%@3@%@0? : If- 52 (asy) — K x If- 52 (sym) — 2.56 (KA) - (CB%}% = 26 KA) """ OK

OfCER AT © EPWIC iR © f- 53 FEEME 0 KVp2= 0.38 KV 152 =1519.3 A Zp2=0.1444Q
fi&4: © 0.6 KV XLPEC 14 mm2> 1/§ > 50 M>IN PVC.P Zwbe = 1.6576 +j 0.1381 (Q/ KM)

_Zcable _1.6576 +j0.1381 50 M 1 . _ o
=7, 01442 x 1000 M x 1 0.57396122 + j 0.04781856 = 0.57594973 £ 4.8 ° (p.u)

YZpss=XZp a0 + Z,=058654447 + j 0.08725747 =0.59299939 /£ 8.5 ° (p.u)

Zy

N, . Ip2 X
THESUEER ¢ 15 53 (; = —————= 256 (KA —= 0.15 > K= 1
%ﬂffﬁ% QBEE@/)IL f-53 (sym) > 7 5 (KA) R
JEEITEI R © [0 asy) = K X I fos3 (ymy = 2.56 (KA) — (C.BEEfI= 2.6 KA) ---e OK

OfCER X © EPWID iR © f- 54 FEEME 0 KVp2= 0.38 KV 152 =1519.3 A Zp2=0.1444Q
fi&4% 0 0.6 KV XLPEC 14 mm2> 1/§ > 50 M>IN PVC.P Zmpe = 1.6576 +j 0.1381 (Q/ KM)

_Zcable _1.6576 +j0.1381 50 M 1 . _ o
B 01444 X 1000 M X 1 0.57396122 + j 0.04781856 = 0.57594973 £ 4.8 ° (p.u)

XZ2f5s=XZf 10 + Z,,=0.58654447 + j 0.08725747 =0.59299939 ~ 8.5 ° (p.u)

Zy

N, . Ip2 X
THESUPE R ¢ 11 54 ¢ = ————= 256 (KA —= 0.15 »» K= 1
%ﬂffﬁ% QBEE@/)IL f- 54 (sym) > 21 o (KA) R
JEEITEI R © [ for asy) = K X L foss (ymy = 256 (KA) — (C.BEEFi= 2.6 KA) oo OK

FO05FE F12H 34 H
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OICER AT - EPWIE RS+ f- 55 FEME ¢ KVp2= 0.38 KV Ip2=1519.3 A Zp2=0.1444Q
fii&4t: 06KV XLPEC 14 mm2> 1/§ > 50 M>IN PVCP Zcwe = 1.6576 +; 0.1381 (Q/ KM)

_ Zeante _ 16576+ 01381 50 M _ 1 _ , _ .
= = oaada o001 057396122 + j 0.04781856 = 057594973 £ 48" (pu)

YZpss =% Zs a0 + Z,=058654447 + j 0.08725747 =0.59299939 /£ 8.5 ° (p.u)

Zy

Lt . Ip2 X

LT E=oVS PN : 1 - - O = 2 KA ER— 1 N K: 1

fagi e EEE f-55 (sym) S 72 o 56 (KA) R 0.15
JEEIFREEER © Ifoo5 (asp) = K X1 fos5 ymy = 2.56 (KA) — (C.BEEFI = 26 KA) - OK
QL EREATE © EPWRT HPERE © f- 56 FHE[E ¢ KVp2= 0.38 KV 1Ip2 =1519.3 A Zp2=0.1444Q

fi&4 © 06KV XLPEC 14 mm2> 1/§ > 50 M+ IN PVCP Zewe = 1.6576 +j 0.1381 (/ KM)

_Zcable _1.6576 + 01381 50 M 1 . _ o
=7, 01442 x 1000 M x 1 0.57396122 + j 0.04781856 = 0.57594973 £ 4.8 ° (p.u)

YZps =%Zp a0 + Z,=058654447 + j 0.08725747 =0.59299939 /£ 8.5 ° (p.u)

Zy

WL . Ip2 X

TEGEER © 1x = = 2 KA — = 015 > K= 1

B R EE R f- 56 (sym) S Zf 5% 56 (KA) R 0.15
JEEIFREETER ¢ Ifoo6 (asp) = K X1 fos6 ymy = 2.56 (KA) — (C.BEEFI = 26 KA) - OK
QICEEAE - LMIS gL f- 57 FHEME 0 KVp2= 0.38 KV 152=1519.3 A Zp2=0.14440Q

fii&4s - 0.6 KV XLPE.C 14  mm?2>

1
_ Zcable _1.6576 + j 0.1726 N 50 M xi
Zp2 0.1444 1000 M 1

YZps =% 2p a0 + Z, = 058654447 + j 0.09920345 = 0.59487456 £ 9.6 ° (p.u)

/§ > 50 M>IN EMT.P Zebe = 1.6576 +j 0.1726 (Q/ KM)

Zw =0.57396122 + j 0.05976454 =0.57706437 £ 59 ° (p.u)

. . Ib2 X
JREII SRR - Iy = "7 = 2 KA Z = 017 > K= 1
T R f-57 (sym) S 725w 55 (KA) R 0
ISR ER © Ifoor (a) = K X1 fo57 ymy = 255 (KA) — (C.BEEFI = 26 KA) - OK

QST TR-RMIS  Z& : 15 KVA TR—ZUH © KVp2= 0.38 KV Ip2 =1519.3A Zp2=0.14440Q
B4 : 06KV PVCW 55 mm?: 1/§ > 10 M>IN PVCP Zewe = 4.2461 +j 0.1316 (Q/ KM)
 Zeaple 4.2461 +j 01316 10 M

1 , .
Zw Z, 01444 1000 M xﬁ—o.294o5125 + j 0.00911357 = 0.29419245 ~/ 1.8 ° (p.u)
s g U e , KVA, .
BRI Zie = 00216 +j 00337 (UKM) — Zpx—gr=-= 144+ 2.24666667 (p.u)
TR
SZm = YZrs + Z, + Z;p =2.32059572 + j 2.35498369 = 3.30622333 £ 454 ° (p.u)
QL EZATE © RMIS HfESL 0 f£-58  TROZHI: KVez= 0.19 KV 153 =3038.7 A Zp3 =0.0361Q

BCE4R - 0.6 KV XLPE.C 14 mm2> 1/§ > 50 M>IN EMT.P Zepe = 1.6576 +j 0.1726 (Q/ KM)

_Zcable _1.6576 +j 01726 50 M 1 . _ o
=7 0.0361 x 1000 M x 1 2.29584488 + j 0.23905817 =2.30825746 £ 5.9 (p.u)

YZrs=%2Zm + Z,=461644060 + j 2.59404186 =5.29533540 ~ 29.3° (p.u)

Zy

W Lo . I3 X

LED (3252 — s = R ’ =

HTREEEIR © 1558 (sym) S 75 u 0.57 (KA) R 0.56 K= 1
JESTBEUREEETT © Ifss asp) = K X1 f55 (ymy = 057 (KA) — (CB#EEF = 0.6 KA) - OK

FO05F F13H L34 H
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QL EAE4TH - HVCB-3 HPERE ¢ f- 59 FEE 0 KVpr= 228 KV Ipr= 253 A Zp; =519.84Q

fidks4 0 25 KV CUBUS 25x3 t> 17§ » 3 M>INBUSBAR Zpis = 0.3036 +j 0.2902 (Q/ KM)

_ Zpus 03036 +,02002 3 M _ 1 _ . _ .
Zw = 7 519.64 X000 ¥ T =0.00000175 + j 0.00000167 =0.00000242 £ 43.7° (p.u)
YZps=X2Zp> + 2, =0.00003613 + j 0.00190883 =0.00190917 £ 88.9° (p.u)

Lt . Ib1 X

Sy Y ExNS e\ : — — = N —

BT EIR © 1150 (ym) Ty Zra 13.25 (KA) R 52.83 K= 1.1
JEEIFEREETER © Ifoo0 (asp) = K X1 fo59 (ymy = 1458 (KA) — (C.BEEFH] = 146 KA) -t OK
QFEFEEEZTE ¢ TR-3 758 1 2500 KVA TR—ZXfH] : KVpr= 228 KV Ip1 = 253 A Zp;=519.840Q

fi&4p: 25 KV XLPE.C 38 mm?> 1/§ > 12 M>IN PVCP Zine = 0.621 +j 0.2006 (Q/KM)
_ Zeate 0621 +j0.2006 12 M _ 1

Zw ==, S1o8a *Toog X5 =0:00001434 + j 0.00000463 =0.00001507 £ 17.9° (pu)
SERZEIEPT Zm = 0007 +j 00596 (UKM) — Zp x%: 0.0028 +,j 0.02384 (pu)
SZm =  SZps + 2y + Zm =000285047 + j 0.02575346 =0.02591073 £ 83.7° (p.u)
OlCE 7% - ACB-3 HERE o0 TR KVpr= 0.38 KV Ip =1519.3 A Zpr =0.14440
&4 © 0.6 KV CUBUS 10010t » 476 > 10 M> INBUSBAR Zps = 0.0062 +j 0.1266 (Q/ KM)

_ Zpus _0.0062 +j0.1266 10 M 1 _ , _ .
== oaada 000w Xz 000010734 + j 000219183 = 0.00219446 £ 87.2" (puu)

YZprow=XZm + Z,=000295781 + j 0.02794529 =0.02810139.284.0° (p.u)

Zy

OEERREERE T = 1886 HP X =25% —=6 R=4.16667% (1HP=1KVA)

KVup 2 XKVAb
KV, KVAgur

Z,=pu(Z,) % = 0.02209261 + j 0.13255567 = 0.13438411 £ 80.5° (p.u)

Zf-60 XZ

Zfe =Zf-e0 Il Z, =ﬁm= 0.00268536 + j 0.02309164 = 0.02324726 ./ 83.4° (p.u)
f- 60 m
WL SR SRS _ Ib2 _ X o
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fii%4s 0 0.6 KV XLPE.C 22 mm?>

1
_ Zcable __1.0507 + j 0.1622 " 100 M xi
Zp2 0.1444 1000 M 1

XZf96=XZf 6 + Z,=0.73031694 + j 0.13541851 =0.74276578 £ 10.5° (p.u)

/§ > 100 M > IN TRAY+EMT Zcape = 1.0507 +j 0.1622 (Q/ KM)

Zw =0.72763158 + j 0.11232687 =0.73625067 .~ 8.8 ° (p.u)

N, . Ip2 X
THESPEER ¢ 11 86 (; = —————= 205 (KA —= 019 »» K= 1
%ﬂffﬁ% QBEE@/)IL f-86 (sym) > 75 (KA) R
JEEIFEEEER © Ifoos (asp) = K X1 fo56 ymy = 2.05 (KA) — (C.BEEF = 21 KA) - OK

FO05F F19H 34 H



i A T

QICERHE - DO PR 0 f- 87 FHE(E ¢ KVp2= 0.38 KV Ip2=1519.3 A Zp2=0.1444Q
Bi&4% © 06 KV XLPEC 50 mm2: 1/& > 100 M > IN TRAY+EMT Zcgpe = 0.4692 + j 0.1614 (Q/ KM)
_ Zcable _0.4692 + j 0.1614 100 M 1

Zw 2. 01442 X000 M xT=0.32493075 +j 0.11177285 = 0.34361776 £ 19.0° (p.u)
YZ2f0=%2p6 + 2, =0.32761611 + j 0.13486449 = 0.35428907 £ 22.4° (p.u)

Lt . Ip2 X

Sy I2E S Y2 : — — — ’ =

EIETIEETR © 1o ym) sz, 429 (KA) = 0.41 K= 1
JEETE SR © I o s = KX 1 fogr (ymy = 429 (KA) — (CBEEfi= 43 KA) -oe OK
®iCEE LT - DD HPEEEL © f- 88 FEME 0 KVp2= 0.38 KV 152=1519.3 A Zp2=0.1444Q

fid&4s © 06 KV XLPE.C 38 mm?2>

1
_ Zcable __0.6095 + j 0.1563 N 100 M xi
Zp2 0.1444 1000 M 1

XZ2f=XZf g + Z,=0.42477677 + j 0.13133264 = 0.44461620 217.2° (p.u)

/§ » 100 M » IN TRAYEMT Zeape = 0.6095 + j 0.1563 (Q/ KM)

Zy

=0.42209141 + j 0.10824100 = 0.43574909 .~ 14.4° (p.u)

W Lo . Ip2 X

Sy iﬁérz"\t\‘: — — — ’ =

BRI EER ¢ 11 a8 (sym) Sy P 3.42 (KA) R 0.31 K= 1
JEEITEI R © I fos asy) = K X I fogs (ymy = 342 (KA) — (CBEEfi= 35 KA) -woe OK
@ iCEE4TE ¢ DD2 HPERL 0 f-89 M ¢ KVpr= 0.38 KV I52=1519.3 A Zp>=0.1444Q

fii&4s - 0.6 KV XLPE.C 38 mm?-

1
_ Zcable __0.6095 + j 0.1563 N 100 M xi
Zp2 0.1444 1000 M 1

XZ2fg90=XZf g + Z,=0.42477677 + j 0.13133264 = 0.44461620 217.2° (p.u)

/§ > 100 M > IN TRAY+EMT Zcapre = 0.6095 +j 0.1563 (Q/ KM)

Zw =0.42209141 + j 0.10824100 = 0.43574909 .~ 14.4° (p.u)

Lt . Ip2 X

Sy iﬁérz"\t\‘: — — — ’ =

BT EIR © -0 (ym) 7w 3.42 (KA) R 0.31 K= 1
JEEIFEEETER ¢ Ifo00 (asy) = K X1 fo59 ymy = 3.42 (KA) — (C.BEEF{ = 35 KA) - OK
@ iCEE41E ¢ DD3 HPEEEE ¢ f-90 FAEE ¢ KVp2= 0.38 KV 1p2=1519.3 A Zp2=0.1444Q

fii&4s - 0.6 KV XLPE.C 38 mm?-

1
_ Zcable __0.6095 + j 0.1563 N 100 M xi
Zp2 0.1444 1000 M 1

XZf00=XZf s + Z,=0.42477677 + j 0.13133264 = 0.44461620 217.2° (p.u)

/§ > 100 M > IN TRAY+EMT Zcapre = 0.6095 +j 0.1563 (Q/ KM)

Zw =0.42209141 + j 0.10824100 = 0.43574909 .~ 14.4° (p.u)

. . Ip2 X

MEEER © 10 (ym) = ————— = 3.42 (KA —= 031 > K= 1

%ﬂffﬁ% QBEE@/)IL f-90 (sym) > 75 (KA) R
JEEFEEEER © [0 (a) = K X1 fo00 ymy = 3.42 (KA) — (CBEEF = 35 KA) - OK
®CE Y - DD4 PR ¢ f-91 FHEE 0 KVp2= 0.38 KV 152=1519.3 A Zp2=0.14440Q

fii&4s - 0.6 KV XLPE.C 38 mm?-

1
_ Zcable __0.6095 + j 0.1563 " 100 M xi
Zp2 0.1444 1000 M 1

XZ2f91=XZf 6 + Z, =0.42477677 + j 0.13133264 = 0.44461620 £17.2° (p.u)

/§ > 100 M > IN TRAY+EMT Zcape = 0.6095 +j 0.1563 (Q/ KM)

Zw =0.42209141 + j 0.10824100 = 0.43574909 .~ 14.4° (p.u)

N, . Ip2 X
THESEER ¢ 15 o1 ( = ——————= 342 (KA —= 031 » K= 1
%ﬂffﬁ% QBEE@/)IL f-91 (sym) > 21 o (KA) R
JEEFEEEER © Lo (as) = K X1 foor ymy = 3.42 (KA) — (CBEEF = 35 KA) - OK

FO05FE F20H 34 H



i A T

@Il EATE - HVCB-4 HPERL 0 f-92 FEE 0 KVpr= 228 KV Ipr= 253 A Zp; =519.84Q

fidks4 0 25 KV CUBUS 25x3 t> 17§ » 3 M>INBUSBAR Zpis = 0.3036 +j 0.2902 (Q/ KM)

_ Zpus 03036 +,02002 3 M _ 1 _ . _ .
Zw = 7 519.64 X000 ¥ T =0.00000175 + j 0.00000167 =0.00000242 £ 43.7° (p.u)
YZp0w=%X2Zs, + Z,=0.00003613 + j 0.00190883 =0.00190917 £ 88.9° (p.u)

Lt . Ib1 X

Sy Y ExNS e\ : — — = N —

BB © 1102 (ym) TS Zra 13.25 (KA) R 52.83 K= 1.1
JEEFEEEER © Ifo00 (asp) = K X1 fog2 ymy = 1458 (KA) — (C.BEEF] = 146 KA) -t OK
QEFEEE LT ¢ TR-4 758 1 2500 KVA TR—ZXfH] : KVpr= 228 KV Ip1 = 253 A Zp;=519.840Q

fi&4p: 25 KV XLPE.C 38 mm?> 1/§ > 12 M>IN PVCP Zine = 0.621 +j 0.2006 (Q/KM)
_ Zeate 0621 +j0.2006 12 M _ 1

Zw ==, S1o8a *Toog X5 =0:00001434 + j 0.00000463 =0.00001507 £ 17.9° (pu)
SERZEIEPT Zm = 0007 +j 00596 (UKM) — Zp x%: 0.0028 +,j 0.02384 (pu)
SZm =  SZpe + 2y + Zm =000285047 + j 0.02575346 =0.02591073 £ 83.7° (p.u)
SlCElAf% - ACB-4 HhEmE  fo93 TR KVpr= 0.38 KV Ip =1519.3 A Zp =0.14440
&4 © 0.6 KV CUBUS 10010t » 476 > 10 M> INBUSBAR Zps = 0.0062 +j 0.1266 (Q/ KM)

_ Zpus _0.0062 +j0.1266 10 M 1 _ , _ .
== oaada 000w Xz 000010734 + j 000219183 = 0.00219446 £ 87.2" (puu)

YZpow=XZm + Z,=000295781 + j 0.02794529 =0.02810139284.0° (p.u)

Zy

O EERZ BERE T = 1050.375 HP X =25% —=6 R=4.16667% (1HP=1KVA)

KVir 2 KVA
KV, KVA

Z,=pu(Z,) % = 0.03966838 + j 0.23801023 = 0.24129329 £ 80.5° (p.u)

Zf-93 XZ

YZfg =2f95 I 2, =ﬁm= 0.00280549 + j 0.02501742 = 0.02517423 £ 83.6° (p.u)
f-93 m
WL SR SRS _ Ib2 _ X o
EIEHIREER © [0 gom = —<=5—— = 60.35 (KA) —= 892 - K=1.22
h Zf- 93 R
JEEITE T © I 03 @asy) = K X 1 fo93 (ymy = 73.63 (KA) — (C.BEEF = 73.7 KA) ---one OK
QLB ZTE - 1-L1A PR 0 f-94 FE(H 0 KVp2= 0.38 KV 1p2=1519.3 A Zp2=0.1444Q

fi&4: 0 0.6 KV XLPEC 30 mm2> 1/§ > 50 M IN EMT.P Zpe = 0.7727 +j 0.1563 (Q/ KM)

_Zeable _0.7727 +j 01563 50 M 1 . _ o
B 01442 X 1000 M X 1 0.26755540 + j 0.05412050 =0.27297421 £ 11.4° (p.u)

XZf0s=XZf o3 + Z,,=0.27036089 + j 0.07913792 =0.28170520 £ 16.3° (p.u)

Zy

gD . Ip2 X
THESPE R ¢ 15 04 (; = ——— = 539 (KA —= 029 »» K= 1
%ﬁﬁﬁ% QBEE@/)IL f-94 (sym) y Zf- or ( ) R
SRS * 1pos a = K X 1oos om = 539 (KA) — (CBEE= 54 KA) - OK

FO05FE F21H 34 H



= {113

w2 B s &

OfCER X - 1-L1B TR - f-95 FAE(E 0 KVp2= 0.38 KV 152 =1519.3 A Zp2=0.1444Q
Bl&4% 0.6 KV XLPEC 30 mm2> 1/§ > 50 M IN EMT.P  Znbe = 0.7727 +j 0.1563 (Q/ KM)

_ Zeante 07727 +j0.1563 50 M _ 1 _ , _ .
= =T oaadr ooow X1~ 026755540 + j 005412050 = 027297421 £ 114" (pu)

XZfo5s=XZf o3 + Z,,=0.27036089 + j 0.07913792 =0.28170520 £ 16.3° (p.u)

Zy

. . Ip2 X

THEERE R © 1y = ——-——= 539 (KA == 029 - K= 1

fagi e EEE f-95 (sym) S 2/ o 5.39 (KA) R 0.29
JEEIFREEER ¢ Ifoos (as) = K X195 ymy = 539 (KA) — (CBEEF = 54 KA) - OK
OfLEBE M - 1-L1C HfERE - f- 96 HBEMH 0 KVp2= 0.38 KV 752 =1519.3 A Zp>=0.1444Q

B4R 0.6 KV XLPEC 38 mm2> 1/§ > 50 M>IN PVC.P Zpbe = 0.6095 +j 0.125 (Q/ KM)

_ Zcable _0.6095 + j 0.125 50 M 1 . _ o
=7, 01442 x 1000 M x 1 0.21104571 + j 0.04328255 =0.21543832 £ 11.6 (p.u)

XZfo=XZf o3 + Z,,=0.21385120 + j 0.06829997 = 0.22449326 £ 17.7° (p.u)

Zy

W Lo . Ip2 X

Sy iﬁérz"\t\‘: — — — ’ =

BT EEET ¢ 106 (sym) Sy P 6.77 (KA) R 0.32 K= 1
JEEITEI R © L0 asy) = K X I g9 (ymy = 6.77 (KA) — (C.BEEFi= 6.8 KA) --eoee OK
QL EZLIE - 1-L1D PR ¢ f-97 FAEE ¢ KVp2= 0.38 KV 1p2=1519.3 A Zp2=0.1444Q

fii&4s - 0.6 KV XLPE.C 14  mm?2>

1
_ Zcable _1.6576 + j 0.1381 N 50 M xi
Zp2 0.1444 1000 M 1

YZpow =% Zs 0 + Z, =057676671 + j 0.07283598 = 0.58134750 £ 7.2 ° (p.u)

/§ > 50 M>IN PVC.P Zbe = 1.6576 +j 0.1381 (Q/ KM)

Zw =0.57396122 + j 0.04781856 = 0.57594973 ~/ 4.8 ° (p.u)

Lt . Ip2 X

Sy iﬁérz"\t\‘: — — — ’ =

BB © 107 ym) Ty z.0 2.61 (KA) R 0.13 K= 1
ISR ER © [0 a) = K X1 foo7 ymy = 2.61 (KA) — (CBEEF = 27 KA) - OK
QL ERATE ¢ 2-L1A HPERL 0 f-98 FEME ¢ KVp2= 0.38 KV 1p2 =1519.3 A Zp2 =0.1444Q

fi&4: © 0.6 KV XLPEC 30 mm2> 1/§ > 50 M IN EMT.P Zwbe = 0.7727 +j 0.1563 (Q/ KM)

_Zeable _0.7727 +j 01563 50 M 1 . _ o
=7, 01442 x 1000 M x 1 0.26755540 + j 0.05412050 =0.27297421 £ 11.4° (p.u)

XZfs=XZf o3 + 2, =0.27036089 + j 0.07913792 =0.28170520 £ 16.3° (p.u)

Zy

e . Ip2 X

HEEER © 50 ym) = ————— = 5.39 (KA —= 029 > K= 1

%ﬂffﬁ% QBEE@/)IL f-98 (sym) > 7 o (KA) R
JEEITEI R © [0 asy) = K X [ g0 (ymy = 5.39 (KA) — (C.BEEfi= 54 KA) ---oee OK
QL EZ L © 2-L1B PR ¢ f-99 HAEE ¢ KVp2= 0.38 KV 1p2=1519.3 A Zp2=0.1444Q

fii&4s: 06KV XLPEC 30 mm2: 1/§ > 50 M>IN EMT.P Zewpe = 0.7727 +j 0.1563 (Q/ KM)

_Zeable _0.7727 +j 01563 50 M 1 . _ o
B 01442 X 1000 M X 1 0.26755540 + j 0.05412050 =0.27297421 £ 11.4° (p.u)

XZf99=XZf o3 + Z,,=0.27036089 + j 0.07913792 =0.28170520 £ 16.3° (p.u)

Zy

WLt N Ip2 X
TRESEER © [ 00 ym) = ——=———— = 5.39 (KA —= 029 > K= 1
%ﬂffﬁ% QBEE@/)IL f-99 (sym) > 71 0 (KA) R
JESTBEUREETR © Tf09 asp) = K X1 f90 (ymy = 539 (KA) — (CBEEF = 54 KA) - OK

FO05FE F22H 34 HE



= {113

w2 B s &

QiiEEATE - 2-L1C RS ¢ f- 100 FE(H 0 KVp2= 0.38 KV 752=1519.3 A Zp;=0.1444Q
Bl&4% 0.6 KV XLPEC 30 mm2> 1/§ > 50 M IN EMT.P  Znbe = 0.7727 +j 0.1563 (Q/ KM)

_ Zeante 07727 +j0.1563 50 M _ 1 _ , _ .
= =T oaadr ooow X1~ 026755540 + j 005412050 = 027297421 £ 114" (pu)

XZfw=XZf o3 + Z,,=0.27036089 + j 0.07913792 =0.28170520 £ 16.3° (p.u)

Zy

o N Ib2 X

THEERE R © 1y = ——-——= 539 (KA == 029 - K= 1

HEEEER f- 100 (sym) > 21 m 5.39 (KA) R 0.29
JEEIFEEEER © L0 asy) = K X1 fo00 symy = 539 (KA) — (CBEEF = 54 KA) - OK
QiiEEA4FE - 2-L1D TR ¢ f- 101 FEME ¢ KVp2= 0.38 KV 752 =1519.3 A Zp;=0.1444Q

Bl&4% 0.6 KV XLPEC 30 mm2> 1/§ > 50 M IN EMT.P  Znbe = 0.7727 +j 0.1563 (Q/ KM)

_Zeable _0.7727 +j 01563 50 M 1 . _ o
=7, 01442 x 1000 M x 1 0.26755540 + j 0.05412050 =0.27297421 £ 11.4" (p.u)

YXZf0i=XZf o3 + Z,,=0.27036089 + j 0.07913792 =0.28170520 £ 16.3° (p.u)

Zy

. . Ib2 X

Sy iﬁérz"\t\‘: — — — ’ =

HERHEEIR © 15 101 sym) TS Zpm 5.39 (KA) R 0.29 K= 1
JEEFEEEER © L0 () = K X1 fovo1 ymy = 539 (KA) — (CBEEF] = 54 KA) - OK
OICERATE © 2-L2A RS ¢ f- 102 FEAE(E 0 KVp2= 0.38 KV 752 =1519.3 A Zp2=0.1444Q

fii&4s - 0.6 KV XLPE.C 30 mm?-

1
_ Zeable __0.7727 + j 0.1563 N 100 M xi
Zp2 0.1444 1000 M 1

YZf10=XZf o3 + Z,,=0.53791629 + j 0.13325842 = 0.55417663 £ 13.9° (p.u)

/§ > 100M >IN EMT.P  Zeape = 0.7727 +j 0.1563 (Q/ KM)

Zw =0.53511080 + j 0.10824100 = 0.54594842 ~/ 11.4° (p.u)

. . Ih2 X
LSS ¢ [, — = 274 (KA —= 2 » K= 1
T (KA) 7= 025

RS fEEE R L0z @y = K X102 @sm = 2.74 (KA) — CB#H= 28 KA) «oeee OK

O fLEE M - 2-L2B RS o f- 103 FEAE(E © KVp2= 0.38 KV Tp2=1519.3 A Zp2=0.1444Q

fii&4s - 0.6 KV XLPE.C 30 mm?-

1
_ Zeable __0.7727 + j 0.1563 N 100 M xi
Zp2 0.1444 1000 M 1

YXZf0=XZf o3 + Z,,=0.53791629 + j 0.13325842 = 0.55417663 £ 13.9° (p.u)

/§ > 100M >IN EMT.P  Zeape = 0.7727 +j 0.1563 (Q/ KM)

Zw =0.53511080 + j 0.10824100 = 0.54594842 ~/ 11.4° (p.u)

L s o T s S o Ib2 X

Eap N 1f.103(sym)=zz—f_m= 2.74 (KA) == 025 - K= 1
JEEIFBEUEETR © Ifi0s asy) = K X1 for0 symy = 2.74 (KA) — (C.BEEFH = 2.8 KA) - OK
QL ERATE ¢ 3-L1A MRS ¢ f- 104 HAEE ¢ KVp2= 0.38 KV 1p2=1519.3 A Zp2=0.1444Q

fii&4s: 06KV XLPEC 30 mm2: 1/§ > 50 M>IN EMT.P Zewpe = 0.7727 +j 0.1563 (Q/ KM)

_Zeable _0.7727 +j 01563 50 M 1 . _ o
B 01442 X 1000 M X 1 0.26755540 + j 0.05412050 =0.27297421 £ 11.4° (p.u)

XZf10=XZf o3 + Z,,=0.27036089 + j 0.07913792 =0.28170520 £ 16.3° (p.u)

Zy

W LT T YA . Ip2 X
EIBEREER ¢ L g 100 (ym) = TS Zrm 5.39 (KA) R= 029 K= 1
gF%ﬁ*@EﬁBﬁ%/ﬁ S04 (asy) = K x 1 £ 100 (sym) = 5.39 (KA) — ( CB#/H = 54 KA ) reeees OK

FO05F F23H 34 H



= {113

w2 B s &

@il EHEATE - 3-L1B HfERE - f- 105 FB(E 0 KVp2= 0.38 KV 152 =1519.3 A Zp;=0.1444Q
fii&4t: 06KV XLPEC 30 mm2> 1/§ > 50 M IN EMT.P Zewe = 0.7727 +j 0.1563 (Q/ KM)

_ Zeante 07727 +j0.1563 50 M _ 1 _ , _ .
= =T oaadr ooow X1~ 026755540 + j 005412050 = 027297421 £ 114" (pu)

XZfw0s=XZf o3 + Z,,=0.27036089 + j 0.07913792 =0.28170520 £ 16.3° (p.u)

Zy

LD o [ 2+ Ip2 X

HTBR PR - 1f.ms(sym)=zz—ﬁm= 5.39 (KA) R= 029 K= 1
JEEIFREEER © Lo asy) = K X1 fovos ymy = 5.39 (KA) — (CBEEF] = 54 KA) - OK
QT ERATE © PACT RS 0 f- 106 FHEE T KVp2= 0.38 KV 152 =1519.3 A Zp>=0.14440Q

fi&4 © 0.6 KV XLPE.C 250 mm2:> 5 /& > 100 M » IN TRAY+RSG Zeape = 0.1022 + j 0.1408 (Q/ KM)

_ Zeaple _0.1022 + j 01408 100 M _ 1 _ , B .
=== S 1id4 Xoog X5~ 0-01415512 +j 0.01950139 =0.02409713 £ 54.0° (p.u)

XZfw0s=XZf o3 + Z,,=0.01696061 + j 0.04451881 =0.04764018 2 69.1° (p.u)

Zy

bt e I X
FRIIETETT © 11 00 (ym) = ———2—— = 31.89 (KA) —= 262 - K=104
ZZf- 106 R
JEEIFEI TR © L fv0s asy) = K X 1 govos ymy = 33.17 (KA) — (C.BEEF] = 332 KA) ---oee OK
O fLER XM © PAC2 i fEEL ¢ f- 107 FEAE(E 0 KVp2= 0.38 KV 752 =1519.3 A Zp2=0.1444Q

BoE4 © 0.6 KV XLPE.C 250 mm2> 3 /& > 100 M > IN TRAY+RSG Zcapte = 0.1022 + j 0.1408 (Q/ KM)

_ Zeaple _0.1022 + j 01408 100 M _ 1 _ , B .
=== S 1id4 Xoog X3 0:02359187 +j 003250231 =0.04016188 £ 54.0° (p.u)

YXZfw=XZf o3 + Z,,=0.02639736 + j 0.05751973 = 0.06328776 2 65.3° (p.u)

Zy

U Lot T s A pe Iy X

EIERHEEIR © 10 sym) = zz—f.m: 24.01 (KA) == 218 » K=1.03
RS fEEE R 1f 107 @syy = K X1 o100 sym) = 24.73 (KA) — (CB}\EEH% = 248 KA) .- OK
QL EREATE © PAC3 HPERL 0 f- 108 FAEE ¢ KVp2= 0.38 KV 1p2=1519.3 A Zp2=0.1444Q

fii%4s 0 0.6 KV XLPE.C 200 mm?2>

1/§ > 100M >IN PVC.P Zeape = 0.1211 +j 0.1159 (Q/ KM)
_ Zeaple _ 01211+ j 01159 100 M _ 1

Z, o 01444 X000 M 1 =0.08386427 + j 0.08026316 =0.11608355 £43.7 (p.u)
YZf1w0we=XZf o5 + 2, =0.08666976 + j 0.10528058 = 0.13636586 £ 50.5° (p.u)
o . Ip2 X
RIS ESS ¢ 1, = ———" = 1114 (KA —= 121 » K= 1
SRS PEEER ¢ 1 £ 108 (symy S 21 o (KA) R
IEETRENEEN © 1 pw asp) = K X Lo gymy = 1114 (KA)  —  (CBEEFI = 112 KA) - oK

FO05FE F24H 34 EH



i A T

S HEEELTE © TR-MR ZyE 0 300 KVA TR—ZUHI: KVp2= 038 KV 1p2 =1519.3A Z52=0.1444Q
B4 0 06KV XLPEC 250 mm2: 2 /& » 25 M INTRAY+RSG Zcapte = 0.1022 +j 0.1408 (Q/ KM)
 Zeabte 01022 + j0.1408 25 M _ 1

Zw Z, 01444 X000 M XE=0.00884695 + j 0.01218837 = 0.01506071 £ 54.0° (p.u)

e I £ 1 e , KVA, )

SEERSEMHIT Zpp = 0.0143  +j 0.0328 (UKM) — Zg xwzo.oneeem + j 0.10933333 (p.u)
TR

>Zm = YZp90 + Z, + Zmw =0.05931911 + j 0.14653912 = 0.15809007 £ 68.0 ° (p.u)

QL EZATE © MR HPEEL 0 f-109 TRZMHI © KVez= 0.19 KV Ip3 =3038.7 A Zp; =0.0361Q

Bi&4s © 06 KV XLPEC 200 mm2> 3 /& » 20 M>IN TRAY Zeape = 0.1258 +j 0.1709 (Q/ KM)

_ Zeaple _0.1258 + j 01709 20 M 1 _ , _ .
== a6 Xoog X3~ 0:02323176 + j 0.03156048 =0.03918901 £ 53.6° (p.ur)

YXZfw0=%XZm + Z, =0.08255087 + j 0.17809960 = 0.19630108 2 65.1° (p.u)

Zy

b e e - I X
SRIIETETT © 1f 00 (ym) = ————— = 15.48 (KA) 2= 216 - K=1.03
ZZf- 109 R
JEEBEETEIR © L foi0 (asy) = K X1 fo100 symy = 15.94 (KA) — (CBEEFI = 16 KA) -« OK
OILEBE A © 1-R1A RS ¢ f- 110 HBEM 0 KVp3= 0.19 KV 753 =3038.7 A Zp3=0.0361Q

fii&4s: 06KV XLPEC 14 mm2> 1/§ > 50 M> IN EMT.P Zewpe = 1.6576 +j 0.1726 (Q/ KM)

_Zcable _1.6576 +j 01726 50 M 1 . _ o
B 0.0361 x 1000 M x 1 2.29584488 + j 0.23905817 =2.30825746 £ 5.9 (p.u)

XZfm=XZf w0 + Z, =2.37839575 + j 0.41715777 =2.41470225 2 9.9 ° (p.u)

Zy

L s o T s S o I3 X

ISR ¢ L mo (sym)=zz—f_m= 1.26 (KA) == 018 » K= 1
JEEIFBEUREETR © Lo ) = K X1 fomo gymy = 1.26 (KA) — (CBEEF = 1.3 KA) - OK
QL EBZ LT - 1-R1B MR ¢ f- 111 M © KVp3= 0.19 KV 153 =3038.7 A Zp;3=0.0361Q

Bi&4% : 06KV XLPEC 14 mm2> 1/& > 50 M>IN EMT.P Zeape = 1.6576 +j 0.1726 (Q/ KM)

_Zcable _1.6576 +j 01726 50 M 1 . . o
= 7.; 0.0361 X 1000 M X 1 =2.29584488 + j 0.23905817 =2.30825746 £ 5.9  (p.u)

XZfm=XZf w0 + Z,, = 237839575 + j 0.41715777 =2.41470225 2 9.9 ° (p.u)

Zy

Mz T I~ = . [ X

RRIEER 1 (ym) = ﬁ = 126 (KA) == 018 K= 1
éfi%‘ffﬁiéﬁﬁﬁ'é@fﬁ : 1f.111 (asy) — K x If_ 11 (sym) — 1.26 (KA) g ( CB?EEF% = 1.3 KA) """ OK
QT LTE - 1-R1C HEERL 0 f- 112 FAEE ¢ KVp3= 0.19 KV 153 =3038.7 A Zp3=0.0361Q

fil%4s @ 0.6 KV XLPE.C 8 mm2>

1
_ Zcable 2.9455 + j 0.1402 50 M xi

Zs3 0.0361 * 1000 M 71
S Zpm=3Zsp w + Z,, = 416219076 + j 0.37228243 =4.17880678 2 5.1 ° (pu)

/1§ > 50 M>IN PVC.P Zcpe = 2.9455 +j 0.1402 (&/ KM)

Zy

=4.07963989 + j 0.19418283 =4.08425864 ~/ 2.7 ° (p.u)

. . 1p3 X
SLFD E=Y N . ] S — . [ i ’ =
HTREEER © 1f e gym) = TSZpm 0.73 (KA) R 0.09 K= 1
éfi%ﬁﬁiéﬁﬁﬁfﬁééfﬁ : ]f. 112 (asy) — K X If_ 112 (sym) — 073 (KA) b d ( CB}E%F% g 08 KA ) """ OK

FO05FE F25H 34 H



il [ 2 T

= {113

5

OICER A - 1-R1D RS f- 113 FAE(E 0 KVp3= 0.19 KV 153 =3038.7 A Zp3 =0.0361Q
fl&4% © 0.6 KV XLPE.C 8 mm?: 1/§& > 50 M>IN PVC.P Zcwpe = 2.9455 +j 0.1402 (Q/ KM)

_ Zeanle _2.9455 + j 01402 50 M 1 _ , B .
==5 = 0361 X oo X1 407963989 + j 019418283 =4.08425864 £ 2.7 " (p)

XZfms=XZf 0o + Z,,=4.16219076 + j 0.37228243 =4.17880678 £ 5.1 ° (p.u)

Zy

Yt . 1p3 X

FEH IS ¢ [ . — = 07 KA —= . » K= 1

EAp RGN f- 113 (sym) S 2 m 0.73 (KA) R 0.09
JEEFREEER © I asy) = K X1 fovs sy = 073 (KA) — (C.BEEF = 0.8 KA) - OK
QIEBRLTE © 2-R1A =R 0 f- 114 FEAEE ¢ KVps= 0.19 KV [p3 =3038.7 A Zp3 =0.0361Q

Bl&4% ° 0.6 KV XLPEC 14 mm2> 1/§ > 50 M IN EMT.P  Zbe = 1.6576 +j 0.1726 (Q/ KM)

_Zcable _1.6576 +j 01726 50 M 1 . _ o
=7 0.0361 x 1000 M x 1 2.29584488 + j 0.23905817 =2.30825746 £ 5.9 (p.u)

SZpwu=3%2Zs 0 + Z,,=2.37839575 + j 0.41715777 =2.41470225 2 9.9 ° (p.u)

Zy

. . Ip3 X

Sy iﬁérz"\t\‘: — — — ’ =

HREEEIT © 15 14 sym) sz 1.26 (KA) R 0.18 K= 1
ISR ER Iy = K X1 forw ym = 126 (KA) — (CBEEF = 1.3 KA) - OK
OICER X - 2-R1B HfEEL o f- 115 FBEMH 0 KVp3= 0.19 KV 753 =3038.7 A Zp3=0.0361Q

fii&4s - 0.6 KV XLPE.C 14  mm?2>

1
_ Zcable 16576 + j0.1726 50 M xi

Zb3 0.0361 * 1000 M 1
S Zpws=3Zs w0 + Z,, = 2.37839575 + j 0.41715777 =2.41470225 / 9.9 ° (pu)

/§ > 50 M>IN EMT.P Zebe = 1.6576 +j 0.1726 (Q/ KM)

Zw =2.29584488 + j 0.23905817 =2.30825746 ~ 5.9 ° (p.u)

U Lot T s A pe 1b3 X

EIERHEEIR @ 1f s sym) = TS Zpm 1.26 (KA) == 018 K= 1
RS fEEE R Ifus @y = KX1pus @sm= 126 (KA) — (CB}\EEH% = 1.3 KA) -t OK
QBB - 2-R1C HPERL 0 f- 116 FE(E ¢ KVp3= 0.19 KV 153 =3038.7 A Zp;3 =0.0361Q

BCE4R - 0.6 KV XLPE.C 50 mm?2> 1/§& > 50 M>IN EMT.P Zcwe = 0.4692 +j 0.1614 (Q/ KM)
_ Zcable 04692 +j0.1614 50 M 1

Zw 703 0.0361 X 1000 M xT=O.64986150 + j 0.22354571 = 0.68723552 £ 19.0° (p.u)
XZfne=XZf 0o + Z, =0.73241237 + j 0.40164531 =0.83531242 2 28.7° (p.u)
WLt N 1p3 X
TR SR © Ir = ————= 364 (KA —= 0. » K= 1
SRS EEER ¢ 1 £ e (sym) SZf 3.64 (KA) R 0.55
FEER I EE R - If 16 @y = K X1 @sm = 3.64 (KA) — (CB#EFH = 37 KA) -t OK
OfLEBE A © 2-R1D HfERL o f- 117 HBEMH 0 KVp3= 0.19 KV 753 =3038.7 A Zp3=0.0361Q

fi&4: 0 0.6 KV XLPEC 50 mm2> 1/§ > 50 M IN EMT.P  Zpe = 0.4692 +j 0.1614 (Q/ KM)

_ Zeanle _0.4692 + j 01614 50 M 1 _ , B .
=== 0561 Xoog X1 = 0-64986150 + j 022354571 =0.68723552 £ 19.0° (p.u)

XZ2fm=XZf w0 + Z,, =0.73241237 + j 0.40164531 =0.83531242 £ 28.7° (p.u)

Zy

W LT T YA . 1p3 X
TR REER 1§ 117 (sym) = Zz—f-m = 3.64 (KA) F= 055 » K= 1
FEER I EE R - If 17 @asy) = K X1 17 (sym) = 3.64 (KA) - CB#/H = 3.7 KA ) eeeees OK

FO05FE F26H L34 HEH



il [ 2 T

= {113

5

QT EBLTE - 3-R1A WEEL 0 - 118 FEE 0 KVp3= 019 KV 153 =3038.7 A Zp; =0.0361Q
FlAE4% © 0.6 KV XLPEC 14 mm2> 1/§ > 50 M> IN EMT.P  Zewpe = 1.6576 +j 0.1726 (/ KM)

_anble _ 16576 + j 01726 50 M i_ . _ o
=7 0.0361 X 1000 M X 1 2.29584488 + j 0.23905817 = 2.30825746 £ 5.9 (p.u)

XZfus=XZf 0o + Z,,=2.37839575 + j 0.41715777 =2.41470225 2 9.9 ° (p.u)

Zy

Lt . 1p3 X

TSR © I = ——-——= 126 (KA —= 018 - K= 1

HEEEER f- 118 (sym) > 21 6 (KA) R 0.18
JEEFEEEER  Ifmasy) = K XL fovw ymy = 1.26 (KA) — (CBEEFH = 1.3 KA) - OK
QL ERZATE ¢ 3-R1B PR 0 f- 119 MM ¢ KVp3= 0.19 KV 153 =3038.7 A Zp; =0.0361Q

fli4% © 0.6 KV XLPEC 14 mm2> 1/§ > 50 M> IN EMT.P  Zepe = 1.6576 +j 0.1726 (/ KM)

_Zcable _1.6576 +j 01726 50 M 1 . _ o
=7 0.0361 x 1000 M x 1 2.29584488 + j 0.23905817 =2.30825746 £ 5.9 (p.u)

XZf =X Zf w0 + Z,,=2.37839575 + j 0.41715777 =2.41470225 2 9.9 ° (p.u)

Zy

. . Ip3 X

Sy iﬁérz"\t\‘: — — — ’ =

HREEEIT © 15 19 (sym) sz 1.26 (KA) R 0.18 K= 1
JEEFESEER Iy = KX 1o ym = 126 (KA) — (CBEEH = 1.3 KA) - OK
OICER AT © 2-R2A RS ¢ f- 120 FBEMH 0 KVp3= 0.19 KV 753 =3038.7 A Zp3=0.0361Q

fii&4s - 0.6 KV XLPE.C 50 mm?2-

1
_ Zcable 04692 + j0.1614 50 M xi

Zb3 0.0361 * 1000 M 1
S Zpw=3Zs w + Z,, = 0.73241237 + j 0.40164531 = 0.83531242 £ 28.7° (p.u)

/§ > 50 M>IN EMT.P  Zeabe = 0.4692 +j 0.1614 (Q/ KM)

Zw =0.64986150 + j 0.22354571 =0.68723552 .~ 19.0° (p.u)

Lot o o i S I3 X

HTBE PR - 1f.,2o(sym)=22—f_m= 3.64 (KA) == 055 K= 1
IS © 1 f-20 asy) = K X1 fov0 ym) = 3.64 (KA)  — (C.BEFf] = 3.7 KA) oo OK
QB TE © 2-R2B TR - f- 121 HeB(H 0 KVps= 0.19 KV 153 =3038.7 A Zp3 =0.0361Q

BCE4R - 0.6 KV XLPE.C 50 mm?2> 1/§& > 50 M>IN EMT.P Zcwe = 0.4692 +j 0.1614 (Q/ KM)
_ Zcable 04692 +j0.1614 50 M 1

Zw 703 0.0361 X 1000 M XT=0.64986150 + j 0.22354571 = 0.68723552 £ 19.0 (p.u)
YXZ2fon=XZf w0 + Z,, =0.73241237 + j 0.40164531 =0.83531242 2 28.7° (p.u)
L . 1p3 X
THESEER ¢ 1. = ——-——"—= 3.64 (KA —= 0. » K= 1
SRS EEER ¢ 1 f v (symy SZfm 3.64 (KA) R 0.55
FEER I EE R - Izt @y = K X1 symy = 3.64 (KA) — (CB#EFH = 37 KA) -t OK

QT EE4TE © HVCB-5 HPERE ¢ f-122 FHEE ¢ KVpr= 228 KV Ipr= 253 A Zp1 =519.84Q
fi&4s © 25 KV CUBUS 25x3 t» 1/ > 3 M>INBUSBAR Zpys = 0.3036 +j 0.2902 (Q/ KM)

_ Zpus _0.3036 + j 0.2902 3 M 1 . _ o
R 519.84 X 1000 M X 1 0.00000175 + j 0.00000167 = 0.00000242 £ 43.7 (p.u)

XZf2=XZs, + Z,=0.00003613 + j 0.00190883 =0.00190917 2 88.9° (p.u)

Zy

ML o T s S o 1 X
SRR © 1f- e ym) = ——— = 13.25 (KA) 2= 5283 > K= 1.1
z Zf- 122 R
gF%ﬁ*@EﬁBﬁ%/ﬁ Yoz (asy) = K x 1 122 (sym) = 14.58 (KA) — ( CB#MH = 14.6 KA) «eeee OK

FO05FE F21H 34 EH



i A T

OE A ¢ TR-5 K& ¢ 2500 KVA TR—KfH[ : KVpr= 228 KV Ip1 = 253 A Zp1=519.840Q
BiE4R @ 25 KV XLPE.C 38 mm2> 1/§& > 12 M>IN PVC.P Zcpe = 0.621 +j 0.2006 (©/ KM)

_ Zeale 0621 +j02006 12 M 1 , _ .
B Y X000 M < 1o 0-00001434 + j 0.00000463 =0.00001507 £ 17.9° (p.u)

Zy

N KVA
SEBRSSIHBT Z;p = 0.007  +j 00596 (UKM) — Zpg xTA"z 0.0028 +; 0.02384 (p.u)
TR

XZyp = XZf 12 + 2, + Zyg =0.00285047 + j 0.02575346 =0.02591073 £ 83.7 ° (p.u)

QB 4FE ¢ ACB-5 HIPEEE o fo 123 TRZZRMHI: KVp2= 0.38 KV Ip2 =1519.3 A Zp2 =0.1444Q
fil& 4% © 0.6 KV CUBUS 100x10t > 4/8§& > 10 M INBUSBAR Zpus = 0.0062 +j 0.1266 (Q/ KM)

_ Zpus _0.0062 + 01266 10 M 1 _ , _ .
== oaada 000w Xz 000010734 + j 0.00219183 = 0.00219446 £ 87.2" (puu)

YXZ2fm=XZm + Z,=0.00295781 + j 0.02794529 =0.02810139284.0° (p.u)

Zy

OEERR L EERE T = 1886 HP X =25% —=6 R=4.16667% (1HP=1KVA)

KVir 2 KVA
KV, KVA

Z, =pu (Z,) %( = 0.02209261 + j 0.13255567 = 0.13438411 £ 80.5° (p.u)

, Z2f-123 X Z
52 =2f I Z,, =%m — 0.00268536 + j 0.02309164 = 0.02324726 ./ 83.4° (p.u)
f- 123 m

Ip2 X

BB ¢ Lf 20 ym) = —=—5——— = 65.35 (KA) —= 86 = K=122
ZZf- 123

JEEBEEER © 1o (asy) = K X1 oz symy = 79.73 (KA) — (C.BEEFI = 79.8 KA) e OK

QICEBZLTE © A1 HPERL ¢ f- 124 FAEE ¢ KVp2= 0.38 KV 1p2=1519.3 A Zp2=0.1444Q
fie4s © 0.6 KV XLPE.C 80 mm2> 1/8§ > 100 M > IN TRAY+EMT Zeapre = 0.2872 +j 0.1516 (Q/ KM)
_ Zeable _ 02872 + j0.1516 100 M _ 1

Zw 712 01444 X 1000 M X 1 =0.19889197 + j 0.10498615 = 0.22490022 ~ 27.8 " (p.u)
YXZ2fu=XZf 2 + Z,=0.20157733 + j 0.12807779 = 0.23882492 »32.4° (p.u)
. . Ip2 X
W EE e = 7% = . KA = 64 o K= 1
HTRTEEIT © 17 20 sym) S Zfm 6.36 (KA) R 0.6
FEER I EE R - If 2@y = K X124 sym) = 6.36 (KA) — (CB#FH = 6.4 KA) -t OK
OILER A © A2 i fEEL ¢ f- 125 FEAE(E © KVp2= 0.38 KV Tp2=1519.3 A Zp2=0.1444Q

fii&4s - 0.6 KV XLPE.C 80 mm?2-

1
_ Zcable __0.2872 + j 0.1516 " 100 M xi
Zp2 0.1444 1000 M 1

XZ2f5=XZf 2 + Z,,=0.20157733 + j 0.12807779 = 0.23882492 2 32.4° (p.u)

/§ > 100 M > IN TRAY+EMT Zcape = 0.2872 +j 0.1516 (Q/ KM)

Zw =0.19889197 + j 0.10498615 = 0.22490022 .~ 27.8° (p.u)

L et o [ s Ih2 X
EITEEREEEIR ¢ 1 £ 05 (sym) = 7 6.36 (KA) R = 064 K= 1
éfi%‘ffﬁiéﬁﬁﬁ'é@fﬁ : ]f- 125 (asy) — K x If- 125 (sym) — 6.36 (KA) — ( CB?EEF% = 6.4 KA ) """ OK

FO05F F28H 34 H



i A T

QB ATE - A3 RS 0 f-126 FHEE T KVp2= 0.38 KV 152 =1519.3 A Zp>=0.14440Q
Bi&4% : 06KV XLPEC 80 mm2> 1/& > 100 M > IN TRAY+EMT Zcupe = 0.2872 +j 0.1516 (Q/ KM)
_ Zcable 0.2872 + j0.1516 100 M 1

Zw 207 01244 X500 M xT=0.19889197 + j 0.10498615 = 0.22490022 £ 27.8° (p.u)
YZf=X2Zs 2 + Z,, =0.20157733 + j 0.12807779 = 0.23882492 » 32.4° (p.u)

WL . Ip2 X

Sy iﬁérz"\t\‘: — — — ’ =

HTRTEEIT © 17 20 sym) Ty Zrm Zr 6.36 (KA) R 0.64 K 1
JEEFRSEER © Ifoasy) = K X1 oz ymy = 6.36 (KA) — (CBEEF = 6.4 KA) - OK
QLB LTE - A4 I EEE © f- 127 FBE(E 0 KVp2= 0.38 KV 1p2=1519.3 A Zp>=0.14440Q

fid&4s © 06 KV XLPE.C 80 mm?2>

1
_ Zcable _0.2872 + j 0.1516 N 100 M xi
Zp2 0.1444 1000 M 1

YXZ2fw=XZf 2 + Z,,=0.20157733 + j 0.12807779 = 0.23882492 »32.4° (p.u)

/§ » 100 M » IN TRAYEMT Zeape = 0.2872 +j 0.1516 (Q/ KM)

Zy

=0.19889197 + j 0.10498615 = 0.22490022 .~ 27.8° (p.u)

. . Ib2 X

Sy iﬁérz"\t\‘: , — — i — . ’ =

BT ETR © 152 sym) B 7 6.36 (KA) R 0.64 K= 1
JEEFESEER © I () = K X1 fovzr ymy = 6.36 (KA) — (CBEEF = 6.4 KA) - OK
OICER A - A5 HfEEL ¢ f- 128 FEAE(E 0 KVp2= 0.38 KV 752 =1519.3 A Zp2=0.1444Q

fii&4s - 0.6 KV XLPE.C 80 mm?2-

1
_ Zcable _0.2872 + j 0.1516 N 100 M xi
Zp2 0.1444 1000 M 1

XZf=XZf s + 2, =0.20157733 + j 0.12807779 = 0.23882492 »32.4° (p.u)

/§ > 100 M > IN TRAY+EMT Zcapre = 0.2872 +j 0.1516 (Q/ KM)

Zw =0.19889197 + j 0.10498615 = 0.22490022 .~ 27.8° (p.u)

U Lot T s A pe Ib2 X

EIERHEEIR ¢ 1 2 sym) = Yz, 6.36 (KA) == 064 - K= 1
RS fEEE R If 125 @y = K X1 f s @ym = 6.36 (KA) — (CB}\EEH% = 6.4 KA) -t OK
OICEBEATE - A6 PR f- 129 FB(E 0 KVp2= 0.38 KV 752 =1519.3 A Zp>=0.1444Q

fii&4s - 0.6 KV XLPE.C 80 mm?2-

1 /8 > 100 M > IN TRAY+EMT Zcapte = 0.2872 +j 0.1516 (Q/ KM)
_ Zeapte _0.2872 +j0.1516 100 M _ 1

Zw 700 01442 X000 M <7 =0.19889197 + j 0.10498615 = 0.22490022 £ 27.8° (p.u)
YZpm=3%2p = + Z,,=0.20157733 + j 0.12807779 = 0.23882492 £ 32.4° (p.u)

L s o T s S o Ib2 X

Eap N 1f.,29(sym)=zz—f_m= 6.36 (KA) == 064 > K= 1
JEEITEI R © Lo asy) = K X [ forzo (ymy = 6.36 (KA) — (C.BEEFi = 64 KA) ---eee OK
QL EB L © AT HPERL 0 f- 130 HAEE ¢ KVp2= 0.38 KV 1p2=1519.3 A Zp2=0.1444Q

fii&4s - 0.6 KV XLPE.C 80 mm?2-

1
_ Zcable _0.2872 + j 0.1516 " 100 M xi
Zp2 0.1444 1000 M 1

XZf=XZf = + 2, =0.20157733 + j 0.12807779 = 0.23882492 2 32.4° (p.u)

/§ > 100 M > IN TRAY+EMT Zcape = 0.2872 +j 0.1516 (Q/ KM)

Zw =0.19889197 + j 0.10498615 = 0.22490022 .~ 27.8° (p.u)

L et o 2 s Ih2 X
EITEEREEEIR © 1 £ 150 (sym) = s zim 6.36 (KA) R = 064 K= 1
FEER I EE R - I 130 (asy)y = K X1 g 130 (sym) = 6.36 (KA) - CB#/H = 64 KA ) eeeees OK

FO05FE F29H 34 H



i A T

QB ATE - A8 PR f- 131 FHEE T KVp2= 0.38 KV 152 =1519.3 A Zp>=0.14440Q
Bi&4% : 06KV XLPEC 80 mm2> 1/& > 100 M > IN TRAY+EMT Zcupe = 0.2872 +j 0.1516 (Q/ KM)
_ Zcable 0.2872 + j0.1516 100 M 1

Zw 207 01244 X500 M xT=0.19889197 + j 0.10498615 = 0.22490022 £ 27.8° (p.u)
YZfwm=2X2Zs 2 + Z,, =0.20157733 + j 0.12807779 = 0.23882492 » 32.4° (p.u)

WL . Ip2 X

Sy iﬁérz"\t\‘: — — — ’ =

HTEEEEIR © 15 o sym) Ty Zra 25 6.36 (KA) R 0.64 K 1
JEEIFREEER ¢ I (asy) = K X1 foo1 ymy = 6.36 (KA) — (CBEEF = 6.4 KA) - OK
QI EELTE - A9 B 0 f- 132 FBE(E 0 KVp2= 0.38 KV 1p2=1519.3 A Zp>=0.14440Q

fid&4s © 06 KV XLPE.C 80 mm?2>

1
_ Zcable _0.2872 + j 0.1516 N 100 M xi
Zp2 0.1444 1000 M 1

YXZfm=XZf 2 + Z,,=0.20157733 + j 0.12807779 = 0.23882492 ~32.4° (p.u)

/§ » 100 M » IN TRAYEMT Zeape = 0.2872 +j 0.1516 (Q/ KM)

Zy

=0.19889197 + j 0.10498615 = 0.22490022 .~ 27.8° (p.u)

. . Ib2 X

Sy iﬁérz"\t\‘: — — — ’ =

HREEEIT © 17 02 (sym) Ty Zrm Zr 6.36 (KA) R 0.64 K 1
ISR ER © Iy = K X1 fo ymy = 6.36 (KA) — (CBEEF = 6.4 KA) - OK
OICERAE © A10 i fEEL ¢ f- 133 FEAE(E 0 KVp2= 0.38 KV 752 =1519.3 A Zp2=0.1444Q

fii&4s - 0.6 KV XLPE.C 80 mm?2-

1
_ Zcable _0.2872 + j 0.1516 N 100 M xi
Zp2 0.1444 1000 M 1

YXZ2fwm=XZf s + Z,=0.20157733 + j 0.12807779 = 0.23882492 »32.4° (p.u)

/§ > 100 M > IN TRAY+EMT Zcapre = 0.2872 +j 0.1516 (Q/ KM)

Zw =0.19889197 + j 0.10498615 = 0.22490022 .~ 27.8° (p.u)

U Lot T s A pe Ib2 X

BRI @ 1 0 sym) = Yz, 6.36 (KA) == 064 - K= 1
RS fEEE R Ifes @y = K X1 @em= 636 (KA) — (CB}\EEH% = 6.4 KA) -t OK
OICEBE AT - B1 PR f- 134 FB(E 0 KVp2= 0.38 KV 752 =1519.3 A Zp>=0.1444Q

fii%&4s 0 0.6 KV XLPE.C 100 mm?2>

1 /& > 100 M > IN TRAY+EMT Zcape = 0.2341 +j 0.1466 (Q/ KM)
_ Zeapte _0.2341+j0.1466 100 M _ 1

Zw 712 0 1444 X’IOOOM X 1 =0.16211911 + j 0.10152355 =0.19128418 ~ 32.1" (p.u)
YXZfm=XZf s + Z, =0.16480447 + j 0.12461519 =0.20661428 2 37.1° (p.u)
N, . Ip2 X
SRR [, I _ 735 ka 2= 076 > K= 1
SRR PEEER ¢ 1 £ 10 (symy S Zf 35 (KA) R 0.76
RS FE R R If1@sy = K X1 @m= 7.35 (KA) — CB#ERH= 74 KA) «oeee OK
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